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L,1-ruuxzFlL v 2 1 <0.010| <0.010| <0.010| = - - - - - - - 2 | <0.010 <0.010| <0.010
TNIZDLAROZDILED 12 0.35 0.04 0.12]12/0.03 <0.01/0.01]12]0.02|<0.01|0.01[ 12 0.02| <0.01| <0.01
PFOSKUPFOA 4 | 0000005 | <0.000005 | <aooooes] = | = - - |- - - = | 4 | <oo0000s]| <000000s | <000005
KR 366/ 21.7 1.3 | 8.9 |366/20.9 1.4 8.9|12/19.4) 2.3 9.2[12 20.9) 4.5 11.6
EREER 366/ 295 62 | 134|366 256 77 130|12 182 | 86 ' 143[12 173 80 | 138
T BEKMEEFRE (V)L Y2 H) 50, 23 | <1| 5 |- - - -l - - - -1 - - -
D (FrE=TERER 50|<0.02/<0.02/<0.02 - | - | - | - [- - - | - |- - | - | -
f BRIV 12 0.050 0.013 0.020 - - - | - f-/ - | - - - - - | -
TIVAVE 4,20 17 | 19]|- - - -l - - - |4]20] 16 18
& FVT T L 4,12 82 10| - - - - 1= - - - [4]12 9.2 10
B |[x7xvuan 4,21 18]20]|- - - - 1= - - - 412216 2.0
VAT 4132 10]23]|- - - -l - - - [4]25 1.3]18
EAMRBLE (E260) 366/ 1.0210.097/0.165|366 0.12610.027/0.047| 12 0.055 0.028 0.043| 12 0.054 0.028 0.043

*] FKIZBWT, W\JIIAKAREORW (ER, LB IXMEE LIZUR,
*2 BEEOMEIL FTHREEEBEEI2EELZEDTHS,
*3 BRICEFEE2RUAESIZOARERE EN,
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HE R K fid Ik #aoK oK

G dE YN &/ Ty (E% &K &/ Ty (E% &k B/ Fig

— R 50 12000 34 | 880 |50 <1 <1 <1l |12] <1 <1 <1
KIGE 50 2700 5.2 | 240 |50 T T | T |12 | Tl THE | THE
ARIVLARTEDLEY <0.0003| <0.0003 <0.0003| - - - - <0.0003| <0.0003| <0.0003
KER R OZDILEY) 2 |<0.00005 <0.00005 <0.00005| — - - - 2 |<0.00005 <0.00005| <0.00005
LU RGEDEY <0.001/<0.001 <0.001| - - - - <0.001 <0.001|<0.001
SRR EDILEY 2 <0.001/<0.001 <0.001| 2 |<0.001]|<0.001 <0.001| 2 |<0.001]<0.001|<0.001
LREROZDEY 12 <0.001 <0.001 <0.001| - - - - ]12/<0.001| <0.001|<0.001
AMiizosbEY 4 1<0.002 <0.002 <0.002| 4 <0.002 <0.002|<0.002| 4 |<0.002|<0.002 <0.002
AN ER 2 |<0.004|<0.004 <0.004| - - - - 2 <0.004|<0.004| <0.004
. ST AA AV ROIEALSY T | 4 1<0.001]<0.001 <0.001]| 4 |<0.001|<0.001|<0.001] 4 ' <0.001] <0.001|<0.001

THEERRER RO HHE R SR 2| <1 <1 <1 |- - - - 2 <l <1 <1
23 TR KROZDIEY 2 1<0.08 <0.08 <0.08] - - - - 2 1<0.08 <0.08 <0.08

1z |RVERTZOEY 12| <0.1 | <0.1 | <0.1 | - - - - 12] 0.2 <0.1 | <0.1
B YiEfLRE 2 <0.0002] <0.0002 <0.0002| - - - - 2 <0.0002| <0.0002| <0.0002
L4-UAFHYv 2 |<0.005|<0.005 <0.005| - - - - 2 <0.005]<0.005 <0.005
E ?533'2/3”533350 2 1<0.004/<0.004<0.004]| - - - - 2 1<0.004/<0.004 <0.004
Kl g loromssy 2 <0.002 <0.002 <0.002| - | - - - | 2 <0.002 <0.002 <0.002
FhSrunIFLy 2 /<0.001|<0.001 <0.001| - - - - 2 1<0.001 <0.001 <0.001
B ® Moo FLY 2 /<0.001|<0.001 <0.001| - - - - 2 1<0.001 <0.001<0.001
By 2 /<0.001|<0.001 <0.001| - - - - 2 1<0.001 <0.001 <0.001
e =] EEE - - - - 4 0.08 <0.06]<0.06| 4 | 0.08 <0.06 <0.06
JUOOEEES - - - - 4 1<0.002<0.002|<0.002 4 <0.002 <0.002|<0.002

1 ZA=\n b VAN - - - - 4 10.003|<0.001 0.001]12 0.003|<0.001 0.001
Damlslii] - - - - |4 0.003 <0.003/<0.003| 4 |<0.003]<0.003 <0.003

H TTOEIUTOARY - - - - 4 1 0.004|<0.001 0.002]12 0.005<0.001 0.002
RER - - - - 4 1<0.001,<0.001/<0.001| 4 | <0.001 <0.001|<0.001

H FARUNORZRY - - - - 4 1 0.013]<0.004 0.006]12 0.013 <0.004 0.005
M) 7O O FEg - - - - |4 0.003 <0.003/<0.003| 4 |<0.003]<0.003 <0.003
JOEYZO0AZY - - - - 4 1 0.005 <0.001] 0.002]12] 0.005 0.001 | 0.002
TOERIVL - - - - 14 0.001<0.001 <0.001[12| 0.001 <0.001 <0.001
FIVLTILTER - - - - |4 <0.008 <0.008 <0.008] 4 <0.008 <0.008 <0.008

{J< KR OZDILEY 2 <01 <01 <012 <0.1 <01 <0.1]2] <0.1] <0.1 <0.1
ﬁ?}vi:f?L\&U’%(D{té‘% 12| 0.40  0.04 0.11 |12 0.03 | <0.01 <0.01]|12 0.03 <0.01|<0.01
AN O =y /) 0.12 | 0.05 | 0.09 [ 2 |<0.03<0.03/<0.03 <0.03<0.03<0.03
? RO EDILEY <0.1 | <0.1 | <0.1 <0.1 | <0.1 | <0.1 <0.1 | <0.1 | <0.1

NN F DL ROZDILEY 8.5 7.8 8.2 | - - - - 12 11 12
Fi RVHVROZDLEY 121 0.036 0.011 0.023]|12 <0.001 <0.001|/<0.001]12 <0.001 <0.001|<0.001

R B4 12 13 6 9 4 20 15 17 |12 23 10 15

I%:Q HNII L, ITIVILEFEE) | 4 51 32 43 - - - - 4 56 31 43

T (TR 120 80 100 | - - - - 140 80 110
g B SR E A 2 1<0.02<0.02 <0.02] - - - - 2 1<0.02]<0.02 <0.02
HE|VxAAIY 12| 0.000002 | <0.000001 | <0.000001| 12 |0.000001 <0.000001 | <0.000001| 12 |0.000001  <0.000001  <0.000001
B 2-AFIWVAVRIVIFI =)V 12 10.000002/ <0.000001| <0.000001] 12 | <0.000001| <0.000001| <0.000001] 12 | <0.000001] <0.000001 <0.000001
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HE B K fid 7K oK oK
| B &/ Ty (E% &K &/ Ty (E% &k B/ Fig
K % FEA AV FREIE M <0.002|<0.002<0.002| - | - - - <0.002| <0.002 <0.002
= ;J;" 7z -V <0.0005| <0.0005 <0.0005| - - - - <0.0005| <0.0005| <0.0005
?: EHY (£FRRE(TOC)DE) 50 2.5 0.5 0.9 [50 0.6 0.3 0.5 [12 0.6 0.3 0.5
£ F‘; pH{E 366 7.9 7.2 7.5 |366 7.4 6.9 7.0 |12 7.4 7.0 7.2
#e R ok - - 366 EHELL 12 EHERL
H % B *1 | 366] munL3d3 »omio mres mul 366 B2ELL 12 BHEZL
3 |BE 12 14 1.6 3.9 |12] <0.5 | <0.5 <0.5]|12] <0.5 | <0.5 ]| <0.5
a IEE?%EE 366 78 0.4 2.9 |36 <0.1 <0.1  <0.]12 <0.1 ] <0.1 | <0.1
TUFEVROEDEY 2 1<0.002|<0.002| <0.002| - - - - 2 <0.002|<0.002 <0.002
U7V ROZEDILEY 2 <0.0002] <0.0002 <0.0002| - - - - 2 <0.0002| <0.0002 <0.0002
=V TIVROEDLEY) 2 1<0.002|<0.002 <0.002| 2 ' <0.002 <0.002|<0.002| 2 |<0.002|<0.002 <0.002
,2-YrunT iy 2 <0.0004 <0.0004 <0.0004| - - - - 2 <0.0004 <0.0004| <0.0004
My 2 1<0.040|<0.040 <0.040| - - - - 2 <0.040 <0.040/<0.040
TV (2-TFIAFVI) 2 <0.008 <0.008 <0.008| 2 <0.008|<0.008 <0.008| 2 |<0.008|<0.008 <0.008
K IR - - - - 2 1 <0.06 <0.06 <0.06| 2 | <0.06|<0.06 <0.06
A= 1= 4 = V)7 - - - - 4 1<0.001,<0.001/<0.001| 4 | <0.001 <0.001|<0.001
B fakraz—in - - - - 4 1<0.002|<0.002 <0.002| 4 <0.002|<0.002/<0.002
E |mEs ¥2 [ 4] <0.1 | <0.1 | <0.1[4 <0.1 <0.1 | <0.1] - - - -
i BEEIER - - - - 366 0.60 0.38 | 0.47 [12] 0.54 | 0.38 | 0.44
TN b, XTIV L% (BE) 4 51 32 43 - - - - 4 56 31 43
H RUHAVROEDLEY 12 0.036 0.011 | 0.023]12|<0.001)<0.001 <0.001| 12 <0.001 <0.001|<0.001
1| R 3. . 09 L7 |- - - - 3.6 | 20 2.7
o LL1-M)ryoox&y <0.030/<0.030 <0.030| - - - - <0.030|<0.030 <0.030
AFINV-t-TFIVT—F) <0.002| <0.002/<0.002| 2 <0.002/ <0.002|<0.002| 2 |<0.002|<0.002 <0.002
€ EHY (£FRRE(TOC)DE) 50 2.5 0.5 0.9 [50 0.6 0.3 0.5 [12 0.6 0.3 0.5
H |R&54E (TON) *3 (23 4 1 1 |- - - - -1 - - -
=i RFTREY 4 120 80 100 | - - - - 4 140 80 110
BE 366 78 0.4 2.9 |366] <0.1 | <0.1 <0.1 |12 <0.1 | <0.1 | <0.1
pH{E 366 7.9 7.2 7.5 |366 7.4 6.9 7.0 |12 7.4 7.0 7.2
BEME GV THER) - - - - - - - - 4 -16  -2.6 | -2.1
TEB KB 12 100000/ 4800 25000[{12 1 <1 <1l [12] 3 <1 <1
1,I-yr7ouxFL v 2 1<0.010/<0.010/<0.010] - - - - 2 1<0.010 <0.010/<0.010
TIWVI=ULROZDILEY 12| 0.40  0.04 0.11 |12 0.03 | <0.01 <0.01]12 0.03 <0.01|<0.01
PFOSKUPFOA 4 | <0.000005 <0.000005| <0.000005| = - - - 4 | <0.000005| <0.000005 <0.000005
7KIE 366 23.8 | 0.4 9.3 |[366] 24.3 | 0.9 9.8 [12] 22.8 | 2.3 11.3
EREER 366 236 73 135 |366] 260 90 154 |12 218 112 164
€ BRMFRE (VY aHE) 50 270 1 20 - - - - - - - -
D | TUE=THEER 50 0.02 <0.02 <0.02]| - - - - - - - -
fth BESVHY 121 0.027 | 0.004 0.014]| - - - - - - - -
TNVAVE 4 29 18 24 - - - - 4 27 15 21
& FIVII L 4 14 9.3 12 - - - - 4 17 8.9 13
B [xZ3x>van 4 3.6 2.2 3.0 | - - - - 4 3.6 2.1 2.8
VDAIN 4 1.2 0.70 | 0.90 | - - - - 4 1.7 0.70 1.2
FHMRREE (E260) 366 0.823 1 0.062  0.131 366 0.077  0.021  0.035]12 0.039 0.026 0.034

*1 FAKIZBOT, A)IKARDRE N (BR, £R)IZTEE j2idUany,

*2 REHOMER, ZMREBEBEEIZEELZEDTHS,
*3 RRUICEEERUGAIIDOAAERE EHE,
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=HFKIS

HE R K fid Ik #aoK oK

| B &/ Ty (E% &K &/ Ty (E% &k B/ Fig

— R 50 1800 4 300 |50 <1 <1 <1l |12] <1 <1 <1
KIGE 50/ 360 @ <I1.0 | 38 |50 Tkt ThH | T | 12| T T | THE
ARIVLARTEDLEY <0.0003| <0.0003 <0.0003| - - - - <0.0003| <0.0003| <0.0003
KER R OZDILEY) 2 |<0.00005 <0.00005 <0.00005| — - - - 2 |<0.00005 <0.00005| <0.00005
LU RGEDEY <0.001/<0.001 <0.001| - - - - <0.001 <0.001|<0.001
SRR EDILEY 2 <0.001/<0.001 <0.001| 2 |<0.001]|<0.001 <0.001| 2 |<0.001]<0.001|<0.001
LEROZDIEY 12] 0.006 | <0.001| 0.003] - - - - 121 0.001 | <0.001|<0.001
AMizosbE 4 1<0.002 <0.002 <0.002| 4 <0.002 <0.002|<0.002| 4 |<0.002|<0.002 <0.002
AN REER 2 |<0.004|<0.004 <0.004| - - - - 2 <0.004|<0.004| <0.004
i ST AA AV ROIEAY T | 4 1<0.001]<0.001 <0.001] 4 |<0.001|<0.001|<0.001] 4 ' <0.001] <0.001|<0.001
THEERRER RO B SR 2| <1 <1 <1 |- - - - 2 <l <1 <1
B3 TR ROZDIEY 2 1<0.08 <0.08 <0.08] - - - - 2 1<0.08 <0.08 <0.08

1z |RVERTZOEY 12| 0.1 <0.1 | <0.1] - - - - 12| 0.1 <0.1 | <0.1
B EfLRE 2 <0.0002] <0.0002 <0.0002| - - - - 2 <0.0002| <0.0002 <0.0002
L4-UAFHYv 2 |<0.005|<0.005 <0.005| - - - - 2 |<0.005|<0.005 <0.005
i ?5135—3”53%50 2 1<0.004/<0.004<0.004]| - - - - 2 1<0.004/<0.004 <0.004
Kl g loronssy 2 <0.002 <0.002 <0.002| - | - - - | 2 <0.002 <0.002 <0.002
FhIrunTFL v 2 /<0.001|<0.001 <0.001| - - - - 2 /<0.001| <0.001| <0.001
B ® M rooTFLY 2 /<0.001|<0.001 <0.001| - - - - 2 |<0.001| <0.001| <0.001
H|~vey 2 /<0.001|<0.001 <0.001| - - - - 2 /<0.001| <0.001| <0.001
| g |z - - - - |4 <0.06 <0.06 <0.06| 4 <0.06 <0.06 <0.06
JUOOEEER - - - - 4 1<0.002<0.002|<0.002 4 <0.002 <0.002|<0.002
e ZA=\n b VAN - - - - 4 1 0.007 <0.001] 0.003]12] 0.009 <0.001] 0.004
Damslii - - - - |4 0.004 <0.003/<0.003| 4 | 0.004 |<0.003 <0.003
H TTOEIUOLARY - - - - 4 1 0.003] 0.001  0.002]12 0.004  0.001  0.002
RER - - - - 4 1<0.001,<0.001/<0.001| 4 | <0.001 <0.001|<0.001
H FARUNORZRY - - - - 4 1 0.013]<0.004 0.008]12 0.020<0.004 0.009
M) 2O O - - - - |4 0.004 <0.003/<0.003| 4 | 0.005|<0.003 <0.003
JOEYZO0AZY - - - - 4 0.005 0.002]0.003]|12]0.008 0.001 | 0.004
TOERIVL - - - - |4 <0.001 <0.001/<0.001[12<0.001 <0.001|<0.001
FIVLTIVTER - - - - |4 <0.008 <0.008 <0.008] 4 <0.008 <0.008 <0.008

{k KR OZDILEY 2 <01 | <01 <0.1|2 <0.1 <0.1 | <01]2 <0.1]| <0.1 | <0.1

ﬁ TIWVI=ULROZDILEY 12| 0.30 | 0.04 | 0.11 |12 0.03 <0.01| 0.01 [12] 0.03 | <0.01| 0.01
AN R =y /) 0.12 | 0.10 | 0.11 | 2 |<0.03/<0.03 <0.03 <0.03<0.03<0.03
§ Rz DLEY <0.1 | <0.1 | <0.1 <0.1 | <0.1 | <0.1 <0.1 | <0.1 | <0.1

NN F I LROZDILEY 7.5 6.5 7.0 | - - - - 11 9.1 10
E RUHVROZEDILEY 121 0.038 | 0.009 | 0.025[ 12 <0.001 <0.001|<0.001f 12 <0.001 <0.001|<0.001

R B4 12 9 6 8 4 12 10 11 12 12 9 11

é:@ HNIIL, ITIVILEFEE)| 4 44 27 36 - - - - 4| 44 27 36

T FFeTREY 100 60 90 - - - - 110 70 90
g B S E A 2 1<0.02<0.02 <0.02] - - - - 2 1<0.02]<0.02 <0.02
H|VxAAIY 12 | 0.000002| <0.000001| <0.000001| 12 | <0.000001 | <0.000001 | <0.000001] 12 | <0.000001  <0.000001  <0.000001
B 2-AFIWVAVRIVIFI =)V 12 | <0.000001| <0.000001| <0.000001] 12 | <0.000001| <0.000001| <0.000001] 12 | <0.000001] <0.000001 <0.000001
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HE R K fid Ik #aoK oK
| B &/ Ty (E% &K &/ Ty (E% &k B/ Fig
k| & | R 2 <0.002 <0.002 <0.002| - | - - - | 2 <0.002 <0.002 <0.002
“ %E 7z )—NVE 2 | <0.0005| <0.0005 <0.0005| - - - - 2 | <0.0005| <0.0005| <0.0005
7: EHY (£FRRE(TOC)DE) 50 3.0 0.5 0.8 [50 1.0 0.3 0.5 [12 0.7 0.3 0.5
£ F‘; pH{E 366 7.6 7.1 7.4 |366 7.5 7.1 7.3 |12 7.4 7.2 7.3
#e R ok - - 366 EHELL 12 EHRL
H % 2 *] 366 EEZL364 KERE2 |366 BEERL 12 B2ELL
3> |BE 12 11 1.7 3.6 |12] <0.5 | <0.5 <0.5]|12] <0.5 | <0.5 ]| <0.5
a Ié?%f;?* 366 37 0.2 1.4 |36 <0.1  <0.1 <0.1]12] <0.1 | <0.1 | <0.1
T UFEVROEDEY 2 1<0.002|<0.002| <0.002| - - - - 2 <0.002 <0.002/<0.002
U7V ROZEDIEY 2 <0.0002] <0.0002 <0.0002| - - - - 2 <0.0002| <0.0002 <0.0002
=T IVROZEDLEY) 2 <0.002 <0.002/<0.002| 2 <0.002]<0.002 <0.002| 2 <0.002|<0.002 <0.002
1,2-v7unx&y 2 <0.0004 <0.0004 <0.0004| - - - - 2 <0.0004| <0.0004 <0.0004
| 2 <0.040|<0.040 <0.040| - - - - 2 1<0.040|<0.040 <0.040
TEVEY (2-TFNAFVI) 2 1<0.008/<0.008 <0.008| 2 ' <0.008 <0.008/<0.008| 2 '<0.008|<0.008|<0.008
K TIRRE - - - - 2 <0.06 <0.06 <0.06| 2  <0.06|<0.06 <0.06
o Yroayeh=rJk - - - - 4 <0.001 <0.001 <0.001| 4 | 0.001 | <0.001|<0.001
T |[Fkzus—n - - - - 4 1<0.002<0.002|<0.002 4 <0.002 <0.002|<0.002
E | *2 |4 <0.1 | <0.1 | <0.1[4 <0.1  <0.1 ] <0.1] - - - -
i BEEIER - - - - 366) 0.58 | 0.36 # 0.43 |12 0.48 | 0.30 | 0.41
TN b, XTIV L% () 4| 44 27 36 - - - - 4| 44 27 36
H RUHVROZEDILEY 121 0.038 | 0.009 | 0.025[ 12 <0.001 <0.001|<0.001f 12 <0.001 <0.001|<0.001
B | 4 1.6 0.9 1.3 - - - - 4 1.8 1.3 1.6
o LL1-M)rZoox&y 2 1<0.030|<0.030 <0.030| - - - - 2 1<0.030/<0.030 <0.030
AFINV-t-TFIVT—F) 2 1<0.002]<0.002 <0.002| 2 ' <0.002 <0.002/<0.002| 2 |<0.002|<0.002 <0.002
€ HHY (£FRRE(TOC)DE) 50 3.0 0.5 0.8 [50 1.0 0.3 0.5 [12 0.7 0.3 0.5
H |EK54E (TON) *3 |2 3 1 2 |- - - - -1 - - -
=i RFTREY 4 | 100 60 90 - - - - 4 110 70 90
BE 366 37 0.2 1.4 366 <0.1  <0.1 | <0.1 {12 <0.1 | <0.1 @ <0.1
pH{E 366 7.6 7.1 7.4 |366 7.5 7.1 7.3 [12 7.4 7.2 7.3
BEME GGV THER) - - - - - - - - 4 -1.7  -2.4 | -2.1
HEB KB 12 110000 2800 |16000|12| 2 <1 <l |12 14 <1 3
L1-YrouzFL v 2 1<0.010|<0.010 <0.010| - - - - 2 1<0.010 <0.010 <0.010
TIWVI=ULROZDILEY 12| 0.30 | 0.04 | 0.11 |12 0.03 <0.01| 0.01 [12] 0.03 | <0.01| 0.01
PFOSKUPFOA 4 | <0.000005| <0.000005| <0.000005| = - - - 4 | <0.000005| <0.000005 <0.000005
7KIE 366 21.8 0.3 8.7 |366/ 22.4 | 0.5 9.2 [12] 20.9 1.8 10.0
EXEER 366 147 57 116 [366] 178 79 130 |12 154 86 132
€ BRI (T oIV 2 ) 50 3 <1 <1 |- - - - - - - -
D |TVETEER 50 <0.02 <0.02|<0.02| - - - - - - - -
fth BESVHY 121 0.032 | 0.005 0.019] - - - - - - - -
TNVAVE 4 24 12 18 - - - - 4 22 16 19
& TV A 4 14 7.9 11 - - - - 4 14 8.0 11
B [xZ3x>vas 4 2.4 1.8 2.1 - - - - 4 2.3 1.7 2.0
VDAIN 4 0.75 | 0.56 | 0.67 | - - - - 4 0.85  0.59 | 0.74
SRR (E260) 366 0.609 0.060 0.125 366 0.087 0.021  0.040]12 ] 0.051 0.024 0.037

*1 FAKIZBOT, AJIKARDREN (R, £R)IZTEE jZidUany,
*2 REHOMER, FMREREBEEIZEELZEDTHD,
*3 RRICEEERUZBEICOAREBRE: Eh,
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HE R K fid Ik #aoK oK

G dE YN &/ Ty |EE% BK &/ Ty |EE% BK B/ Fig

— R 50 1900 5 190 |50 <1 <1 <1l |12 <1 <1 <1
KIGE 50/ 310  <1.0 | 28 |50 Tkt FhH | T | 12 | T T | T
ARIVLARTEDLEY <0.0003| <0.0003 <0.0003| - - - - <0.0003| <0.0003| <0.0003
KER R OZDILEY) 2 |<0.00005 <0.00005 <0.00005| — - - - 2 |<0.00005 <0.00005| <0.00005
LU RGEDEY <0.001/<0.001 <0.001| - - - - <0.001 <0.001|<0.001
SRR EDILEY 2 <0.001/<0.001 <0.001| 2 |<0.001]|<0.001 <0.001| 2 |<0.001]<0.001|<0.001
LREROZDEY 12 0.003 | 0.001 0.002] - - - - ]12/<0.001| <0.001|<0.001
AMiizosbEY 4 1<0.002 <0.002 <0.002| 4 <0.002 <0.002|<0.002| 4 |<0.002|<0.002 <0.002
TAHIRREER 2 |<0.004|<0.004 <0.004| - - - - 2 <0.004|<0.004| <0.004
i ST A ROMELY 7Y | 4 1<0.001] <0.001<0.001| 4 | <0.001 <0.001 <0.001| 4 <0.001 <0.001|<0.001
THEERRER RO B ER 2 <l <1 <1 |- - - - 2 <l <1 <1
B3 TR KROZDIEY 2 1<0.08 <0.08 <0.08] - - - - 2 1<0.08 <0.08 <0.08

1z | FUERRCZO/EY 12 <0.1  <0. | <0.1 | - - - - |12 <0.1 | <0.1 | <0.1
B YiEfLRE 2 <0.0002] <0.0002 <0.0002| - - - - 2 <0.0002| <0.0002| <0.0002
L4-IAFHYv 2 |<0.005|<0.005 <0.005| - - - - 2 |<0.005|<0.005 <0.005
5@ 75\—1,_2—7’_gyu1fb‘z&(f ~ ~ ~ ~

MvA-1,2-7" Jnzly 2 1<0.004/<0.004 <0.004 2 1<0.004/<0.004 <0.004
K|y loromssy 2 <0.002 <0.002 <0.002| - | - - - | 2 <0.002 <0.002 <0.002
FhIrunTFL v 2 /<0.001|<0.001 <0.001| - - - - 2 /<0.001| <0.001| <0.001
B ® Moo FLY 2 /<0.001|<0.001 <0.001| - - - - 2 /<0.001| <0.001| <0.001
H|~vey 2 /<0.001|<0.001 <0.001| - - - - 2 /<0.001|<0.001| <0.001
2 =] EEE - - - - 4 0.07 <0.06|<0.06| 4 | 0.07 <0.06 <0.06
JUOOEEES - - - - 4 1<0.002<0.002|<0.002 4 <0.002 <0.002|<0.002

e ZA=\n b VAN - - - - 4 1 0.007|<0.001 0.004]12 0.010 <0.001 0.003
Damslii] - - - - |4 0.004 <0.003/<0.003| 4 | 0.005|<0.003 <0.003
H| |vyperooszy - - - - |4 0.001 <0.001 <0.001|12 0.001 <0.001 <0.001
e - - - - 4 1<0.001,<0.001/<0.001| 4 | <0.001 <0.001|<0.001

H FARUNORAZRY - - - - 4 1 0.012]<0.004 0.007]12 0.016 |<0.004 0.006
) 2O O - - - - |4 0.005 <0.003/<0.003| 4 | 0.005|<0.003 <0.003
TJOEY7O0AZY - - - - 4 0.004 0.001]0.003]12]0.005 0.001]0.002
TOERIVL - - - - |4 /<0.001/<0.001 <0.001f12 | <0.001 <0.001|<0.001
FIVLTILTER - - - - |4 <0.008 <0.008 <0.008] 4 <0.008 <0.008 <0.008

{k KR OZDILEY 2 <01 <01 <012 <0.1 <01  <01]2]| <0.1] <0.1 <0.1

;}% TIWVI=ULROZDILEY 12| 0.14 | 0.06 | 0.10 |12 0.03 | 0.01 | 0.02 |12 0.03 | 0.01 @ 0.02
PR OTDAY 0.09 | 0.05  0.07 | 2 1 <0.03<0.03|<0.03 <0.03 <0.03/<0.03
75 RO EDILEY <0.1 | <0.1 | <0.1 <0.1 | <0.1 | <0.1 <0.1 | <0.1 | <0.1

N (FRIVLRTZDILEY 7.7 5.7 6.7 | - - - - 8.3 7.1 7.7
E RUHVROZEDILEY 121 0.020 | 0.008 | 0.012 |12 <0.001 <0.001|<0.001f 12 <0.001 <0.001|<0.001

R (B A 12, 9 5 7 |4 13 9 10 [12] 13 8 10

gé_ HNII L, ITIVILEFEE) | 4 39 27 33 - - - - 4 39 29 34

H | EATEEY 70 50 60 | - - - - 90 50 70
g b1 A S EE MR 2 <0.02] <0.02 <0.02] - - - - 2 <0.02 <0.02 <0.02
E |VzAAIY 12 | <0.000001| <0.000001| <0.000001| 12 |0.000001| <0.000001| <0.000001| 12 |0.000001| <0.000001  <0.000001
H 2-AFINAVRIN A A=) 12 | <0.000001 <0.000001 <0.000001| 12 | <0.000001  <0.000001] <0.000001] 12 | <0.000001 | <0.000001 | <0.000001
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EWLFRFIKIS

HE B K fid 7K oK oK
| B &/ Ty (E% &K &/ Ty (E% &k B/ Fig
k| & (e REE 2 <0.002 <0.002 <0.002| - | - - - | 2 <0.002 <0.002 <0.002
“ %E 7z -V 2 | <0.0005| <0.0005 <0.0005| - - - - 2 | <0.0005| <0.0005| <0.0005
7: EHY (£FRRE(TOC)DE) 50| 2.1 0.6 0.9 [50 1.0 0.3 0.6 [12 0.9 0.4 0.6
£ ;‘; pH{E 366 7.7 7.1 7.4 |366 7.4 7.1 7.2 |12 7.4 7.1 7.3
e R ok - - 366 EHELL 12 EHERL
H % 25 *] |366 B2ELU 366 B2ELU 12 B2ELU
3> |BE 12| 8.0 1.4 3.3 |12] <0.5| <0.5 <0.5]|12] <0.5 | <0.5 ]| <0.5
a IEE BE 366 62 0.2 1.5 366 <0.1  <0.1 | <0.1 {12 <0.1 | <0.1  <0.1
TUFEVROEDEY 2 1<0.002|<0.002| <0.002| - - - - 2 1<0.002|<0.002 <0.002
U7V ROZEDIEY 2 <0.0002] <0.0002 <0.0002| - - - - 2 <0.0002| <0.0002 <0.0002
=T IVROZEDLEY) 2 1<0.002|<0.002 <0.002| 2 <0.002 <0.002|<0.002| 2 |<0.002|<0.002 <0.002
L,2-YrunT iy 2 <0.0004 <0.0004 <0.0004| - - - - 2 <0.0004 <0.0004| <0.0004
| 2 <0.040|<0.040 <0.040| - - - - 2 <0.040 <0.040/<0.040
TV (2-TFIAFVI) 2 1<0.008/<0.008 <0.008| 2 ' <0.008 <0.008/<0.008| 2 '<0.008|<0.008|<0.008
K TIRRE - - - - 2 <0.06 <0.06 <0.06| 2 | <0.06|<0.06 <0.06
s Yroayeh=rJJk - - - - 4 <0.001 <0.001 <0.001]| 4 |<0.001 <0.001|<0.001
o |[fEkrus—-i - - - - 4 1<0.002<0.002|<0.002 4 '<0.002 <0.002|<0.002
E|mEs ¥2 [ 4] <0.1 | <0.1 | <0.1[4 <0.1 <0.1 | <0.1] - - - -
i BEEIER - - - - 366 0.88 | 0.34  0.46 |12 0.74 | 0.36 | 0.46
TN b, XTIV L% (BE) 4 39 27 33 - - - - 4 39 29 34
H RUHAVROEDLEY 12 0.020 0.008 | 0.012]12|<0.001)<0.001 <0.001| 12 <0.001 <0.001|<0.001
B | 4 1.9 1.4 1.8 | - - - - 4 2.3 1.8 2.1
o LL1-M)ryoox&y 2 1<0.030|<0.030 <0.030| - - - - 2 1<0.030/<0.030 <0.030
AFNV-t-TFIVT—F) 2 <0.002]<0.002 <0.002| 2 ' <0.002 <0.002/<0.002| 2 |<0.002|<0.002 <0.002
& EHY (£FRRE(TOC)DE) 50| 2.1 0.6 0.9 [50 1.0 0.3 0.6 [12 0.9 0.4 0.6
H |E&54E (TON) *3 | - - - - - - - - - - - -
=i RFTREY 4 70 50 60 - - - - 4 90 50 70
BE 366 62 0.2 1.5 366 <0.1  <0.1 | <0.1 {12 <0.1 | <0.1 @ <0.1
pH{E 366 7.7 7.1 7.4 |366 7.4 7.1 7.2 |12 7.4 7.1 7.3
BEMEGVTY7iEE) - - - - - - - - 4 -1.8 | -2.1  -2.0
fE B R EME 121220001 3000 11000|12] <1 <1 <1l |12 3 <1 <1
1,I-yr7ouxFlL v 2 1<0.010/<0.010/<0.010] - - - - 2 1<0.010 <0.010/<0.010
TINI=ULROZDILEY 12| 0.14 | 0.06 @ 0.10 |12 0.03 0.01 | 0.02 |12 0.03 | 0.01 | 0.02
PFOSKUPFOA 4 | <0.000005| <0.000005| <0.000005| = - - - 4 | <0.000005| <0.000005 <0.000005
7KIE 366 20.5 0.6 8.5 |[366] 22.9 1.6 10.9 [12] 20.0 3.1 10.5
EREER 366 148 50 102 [366 152 66 112 |12 139 76 114
€ GRS (T VY 2 ) 50 11 <1 2 - - - - - - - -
D |TVESTHEER 50 <0.02 <0.02<0.02] - - - - - - - -
fth BESVHY 12| 0.013 | 0.004 0.008] - - - - - - - -
TNVAVE 4 29 21 25 - - - - 4 27 21 24
& FIVT I I 4 9.7 7.2 8.4 | - - - - 4 9.8 7.7 8.7
B |xZaxvvas 4 | 3.4 2.3 29 | - - - - 4 3.5 2.5 3.0
FVT L 4 1.2 1.1 1.2 - - - - 4 1.3 1.2 1.2
SRR AE (E260) 366 0.384 | 0.059  0.130 [366 0.098 0.026 0.044]12 0.062 0.029 0.045

*] FKIZBWT, WIIKARRORW(BRE, T 8)IXMEE LIELa,
*2 BEMEDMEIX ZREBEE,BEE|25ELZEDTHS,
*3 BRICEEERUAIEEIIDOARERE ENE,
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(3) #\A

KERE R

EaPKE
(1) & HoKIZ K
A 4 5 6 7 8 9
HH BAR| BN | BK RN (&K BN B (&K BN R | &K BN OFE |BRR BN OFEE
— A 61 36 53 |66 44 56 [540 91| 360 |910 460 640 |4300/350 1800 [2600 730 1700
KIBE 25|7.4| 15 |23 /1.0 89 |44 15| 26 |45|26| 36 |460 20 130 |290 67 160
HRIVLROZDEY - - - <0.0003 - -
IKER RO DILEY - - - <0.00005 - -
LY ROZDLEY - - - <0.001 - -
RO ZDILEY - - - <0.001 - -
LEROZDILEY 0.009 0.005 0.007 0.014 0.018 0.013
ANfiz v 2bE&Y <0.002 - - <0.002 - -
HAHSREER - - - <0.004 - -
ST A A Y ROEAY TV <0.001 - - <0.001 - -
i | PR E R R RS REER - - - <1 - -
R TYRROZEDLEY - - - <0.08 - -
- FURROTDILEY 0.1 <0.1 0.1 0.2 0.3 0.2
PiE{ bR 3R - - - <0.0002 - -
M L4-IAFHv - - - <0.005 - -
|73 1.2-Y Junsf L RO
bvA-1,2-v" yonzfLy - - - <0.004 - -
K| T |prmmssy - - - <0.002 - -
3 |FhorunTFLy - - - <0.001 - -
H| g[tvromzsry - - - <0.001 - -
5 YA - - - <0.001 - -
£ EFE# - - - - - -
" suofE - - - - - -
VA =5 y N - - - - - -
1H DZA=islii - - - _ _ _
DA A= 5T M - - - - _ _
H| |s#m - - - - - -
[ WIN=EE - - - - - -
h 7 OOEE - - - - - -
JUEIIuuARY - - - - _ _
TaERIVA - - - - - _
FIVLTIVFER - - - - - -
x SRR OZEDILEY - - - <0.1 - -
B | 7N = A ROZDILAEY 0.14 0.15 0.08 0.06 0.06 0.49
;Jks‘ RO T DILEY) - - - 0.12 - -
B |mrozoran . - ; <0.1 . -
g‘ F R LROZ DAY - - - 9.8 - -
M| VAV ROZEDEY 0.034 0.022 0.025 0.034 0.039 0.11
?f B A 13 8 10 13 15 10
Eg Vb, 97 A96E (REE) 30 - - 28 - -
B2t
ERES 80 - - 80 - -
1:% faA A SRETE A - - - <0.02 - -
B |vztzr3v <0.000001 <0.000001 <0.000001 0.000003 0.000001 <0.000001
2-AFNAVRINV AT <0.000001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001
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(D) EEEHEKIBE K

10 11 12 1 2 3 A
BA RN O (&K BN T &K BN T |RA RN EE [BK RN (&K BN S HHE
790|270 560 [420/230 310 | 96 64| 84 |190 39 82 |270| 25 97 [160 40 95 |—f%HHEE
99 20| 64 |41 21 33 |35 17| 25 |84 29 50 |68 41 36 |17 41| 12 |KiGHE
- - - <0.0003 - - | ARIVLAROEDEY
- - - <0.00005 - - |KBROZDEY
- - - <0.001 - - VU RCGZOIREY
- - - <0.001 - - AR EOEY
0.022 - 0.015 0.009 0.007 0.009 | ERUZDLEY
<0.002 - - <0.002 - - |Affizasidt
- - - <0.004 - - |EHERRRER
<0.001 - - <0.001 - - ST A ROEARY T
- - - <1 - - |EBRERROEMBEER |
- - - <0.08 - - | 7YERCZOEY &
0.4 - 0.3 0.2 0.1 0.2 |HRVERRVUZDILEY -
- - - <0.0002 - - |PEfLRSE
- - - <0.005 - - |L4-UAdFyYy R
A-1,2-Y JUnLFLy RO b
- - - <0.004 - - |Mva-1,2-Y" yonzfly
- - - <0.002 - - |[vroaxzy Tk
- - - <0.001 - - |FhEruopzFLy 3
- - - <0.001 - - |[rwroRzZFLY 7|8
- - - <0.001 - - NV 5
- - - - - - |ERE =
- - - - - - |rooEEs e
- - - - - - |roudibs
- - - - - - |YronEEs 1
- - - - - - |[Y7oEZnoriay
- - - - - - | H
- - - - - - [Fbhunoxzy
- - - - - - |NIOOEEE
- - - - - - |[Foevrnoriay
- - - - - B =S 92N
- - - - - - |[AVLTATER
- - - <0.1 - - |ESRROEDILEY) X
0.10 - 0.07 0.08 0.07 0.05 |7 NI=LROZDIEY |E
- - - 0.11 - - |BRUZOEY ;in
- ; ; <o.1 : - |mrozoran g
- - - 8.8 - R PR D2 a2t ’;
0.027 - 0.027 0.022 0.022 0.037 |V AV ROEDILEY [
22 - 17 12 10 13 |14y ?:t
37 - - 28 - - |roh, 39 RYIASE (REEE) Eﬁ
&
120 - - 70 - - |Emmmaw El
- - - <0.02 - - | RS IéE
<0.000001 - <0.000001 <0.000001 <0.000001 <0.000001 | VA AIV H
<0.000001 - <0.000001 <0.000001 <0.000001 <0.000001| 2= AF VAV RN A A=)V

HOKUEE I 108 30~31HKRU11A1~ 13 BIXKEL,
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(D) EEHIKIZEIK

A 4 5 6 7 8 9
HH
B BN Y | BRI RN Y [EK RN Y (&K BN FY |RA BN Y |RA BN OEY
& ;ij{ FEA AV FREIE MR - - - <0.002 - -
® %‘ Jx/)—)VIE - - - <0.0005 - -
B Z E#%# (TOC) 1.1/0.7 1.0 |0.8/0.6 0.7 [0.8/0.7/ 0.8 [0.8 0.7 0.8 |1.4/0.9] L1 [21/1.0 1.4
% f“; pHI# 7.3/71] 7.2 |72 71| 7.2 |73|71] 7.2 |73 72| 7.3 |7.4|7.1| 7.3 |75 6.9 7.3
TH E B& *1 EAY BHEL ERLL | BEAL30 »URIEHRL30 EES]  BEAL
g ;%; =) 4.3 3.3 3.3 3.0 3.6 5.0
H 8 20/2.0 65 |23 1.7 6.3 [85/0.8 2.0 |18 0.8 19 [160 0.7 7.4 |42 2.8 6.8
TYFEVROZDEY - - - <0.002 - -
U5V ROZDILEY - - - <0.0002 - -
=W VROZDILEY - - - <0.002 - -
1,2-yronTiy - - - <0.0004 - -
W% - - - <0.040 - -
T HIVEEY (2-ZFNAFVIL) - - - <0.008 - -
Bk i - - - - - -
K [Prooyeh=hIL - - - _ _ _
5 fakras—) - - - - - -
= B *2 - - <0.1 - <0.1 -
BREIER - - - - - -
b2
IVSIL, T AT % () 30 - - 28 - -
B RVHAVROEDED 0.034 0.022 0.025 0.034 0.039 0.11
B e 3.3 - - 1.8 - -
% |LL1-hroozay - - - <0.030 - -
& | AFNtTFNT=T - - - <0.002 - -
H ¥ (TOC) 1.1/0.7 1.0 |0.8/0.6 0.7 [0.8/0.7/ 0.8 [0.8/ 0.7 0.8 |1.4/0.9] L1 [21/1.0 1.4
SEEE (TON)  #3 - - - 3 5 -
: RIETREY 80 - - 80 - -
THE 20|2.0] 6.5 [23 1.7 6.3 [85/0.8 2.0 |18 0.8 19 [160/0.7| 7.4 |42 2.8 6.8
pHfi& 73|71 7.2 |72 71 7.2 (73|71 7.2 |73 72 73 |74 71 7.3 |75/6.9| 7.3
BEEGYT T - - - - - -
REREME 11000 4500 6600 16000 23000 54000
L1-YronzFlL v - - - <0.010 - -
TINI=ZDLROZDEY) 0.14 0.15 0.08 0.06 0.06 0.49
PFOSKUPFOA <0.000005 - - <0.000005 - -
KR 6.1/4.1 4.8 |9.9/54 6.7 [13.9/7.8 11.0 |16.2/11.9| 14.4 [20.4 14.3| 18.1 |19.8/14.6| 17.2
BRUEER 120/ 73| 97 |95 64| 77 |187| 88 113 [155/ 78| 120 |156 100 122 |228| 89 131
T |meuEmEE(voLvaE (16| 8 |52 4 |73 5 [10/2] 5 |8 3| 5 |[12]4 8
» |7rE=THEEE <0.02] <0.02) <0.02 | <0.02| <0.02) <0.02 | <0.02| <0.02| <0.02<0.02  <0.02) <0.02|<0.02  <0.02 <0.02|<0.02| <0.02| <0.02
o |[EEYVAY 0.022 0.013 0.014 0.007 0.006 0.007
= TINVHVE 19 - - 20 - -
FIVII L 8.6 - - 8.4 - -
A XTIV 2.1 - - 16 - -
DA 1.3 - - L5 - -
LIRS (E260) 0.182]0.103| 0.146 |0.154] 0.096| 0.124 [0.188 0.100| 0.133 |0.446 0.123| 0.156 [0.904 0.142| 0.201 |0.593 0.186] 0.250

*1 WJIKASRDE (R, £R)IITEFE 2IILE,

*2 RIREOMEIL, ZIRAE,/ BEEIDARLZEDTHD,
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(1) A K K
10 11 12 1 2 3 A
B BN Y | BRI RN Y [BK RN Y (&K BN FY | RA BN Y |RA BN OEE A
- - - <0.002 - - | A RS ;ij{ &
- - - <0.0005 - - |7z —VE %‘ ®
1410 12 |24 11| 1.6 |11 1.0 1.0 [1.0/0.8] 0.9 |17]/0.8 10 |0.8 0.7 0.7 |HH##(TOC) Z B
74|72 7.3 |74 71| 7.3 |7.4|7.3] 74 |74 71| 7.3 |7.3/7.2] 7.2 |74 71| 7.2 |pHf# ; %
i i i i ! -~ s s
R4l |®Ralls EEse]  BRELL BHEL EXiAl 2850 |BK *] ?§ H
3.9 - 3.5 3.6 3.2 2.7 |t g g
44 1.5 4.7 (150 1.2 18 |48 1.3 1.8 |15/ 1.0 13 [13 0.8 14 |82 0.9 17 |&E 5
- - - <0.002 - - |7V FEVROEDLEY
- - - <0.0002 - - |UIVROEDLED
- - - <0.002 - - =y VRO EDILEY
- - - <0.0004 - - |L,2-Yrooxiy
- - - <0.040 - R 1024
- - - <0.008 - - |[ZRVEEY 2-TFNAFVI)
- - - - - - | iR
- - - - - - |Yroorver=tun 7K
- - - - - - |fakros—u =
<0.1 - <0.1 - - - BRI *2 -
- - - - - - |EEER
i
37 - - 28 - - v, =AYy 8% (EE)
0.027 - 0.027 0.022 0.022 0.037 | XV H Y RUZDILEY H
1.8 - - 2.5 - - |EEERER =
- - - <0.030 - - |LL1-hronzgy B4
- - - <0.002 - - | AFNVt-TFNT—TI &
1410 12 |24 11| 1.6 |11 1.0 1.0 [10/ 0.8/ 0.9 |17]/0.8 10 |0.8 0.7 0.7 |H##(TOC) "
- 2 1 2 - - - - |2KEE(TON) =3
120 - - 70 - - |EREEY :
44 15| 4.7 150/ 1.2 18 |4.8/1.3] 1.8 |15/1.0 13 [13 0.8 14 |82]0.9 17 |&E
74|72 7.3 |74 71 7.3 74|73 74 |74 71 73 |73 7.2 7.2 |7.4|7.1| 7.2 |pHf#
- - - - - - |BEEGYTY TR
34000 - 5100 2900 3300 4600 |fE/BREME
- - - <0.010 - - |L1-oroozFLy
0.10 - 0.07 0.08 0.07 0.05 |7INI=ULROZDILED
<0.000005 - - <0.000005, - - |PFOSKUPFOA
14.9/9.3| 10.9 |8.1/4.4| 6.7 |53/27 3.8 [3.2/2.0 26 [2.6/1.6] 2.1 [3.9 L1 21 [/Ki&
167) 82 | 119 [137 68| 104 [152 101 133 [158|101| 119 [158 99 | 121 [252/109 149 |E&iz#Ek
10 2 5 |15/6| 9 [9l4a]| 7 |10/5] 8 |30 3] 12 |6 2 4 |madsEmEE(roiyam | T
<0.02| <002 <0.02] <0.02] <0.02| <0.02 | <0.02/ <0.02| <0.02]<0.02| <0.02| <0.02|<0.02/ <0.02| <0.02]<0.02| <0.02/ <0.02| PV E=THEEHE 1))
0.014 - 0.019 0.018 0.017 0.031 |BE<VHY i
22 - - 17 - - |7vavE
12 - - 8.2 - S 2 2%
2.1 - - L9 - S L V72N |
2.5 - - 1.3 - - |AVIA
0.481]0.149| 0.206 ] 0.439| 0.158| 0.202[0.219 0.145| 0.156 | 0.152| 0.125| 0.140 [0.223 0.115| 0.131 | 0.210 0.103] 0.121 | EAMRRIE (E260)

*3 BRICERE 2 BULGAIZOAHER E Ef,

SHKLEE IR 10H30~31H RU11H1~ 13 HIFKHL,
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(2) EEEHKIGRLK

A 4 5 6 7 8 9
HE =S NE= NI S= I o NES AN 2= b NE -GNl kP NE - ZNEE S =l E-oNE N 2= E o NE - U 2 =]
— A <l <1| <1 [<1 <1l] <1 [<1|<]| <l |<1|<]l| <l |<l|<] <l |<l|<1 <1l
KIGE et | et | TR [ e b AR | s | e | AR | oo o) AR | Fiet | Fint | TR | F | T TR
ARIVLROZDLEY - - - - - -
KRRV ZDILEY - - - - - -
LV ROGEDILEY - - - - - -
RO T DILEY - - - <0.001 - -
LEROZDILEY - - - - - -
ANfiza 2MbEY <0.002 - - <0.002 - -
HEHRARREE R - - - - - -
ST ANHAA Y RS T <0.001 - - <0.001 - -
i (R ER KO HEHEREER - - - - - -
B TYRROZEDLEY - - - - - -
- FURROTDILEY) - - - - - -
g Ak SR - - - - - -
5] o
L4-UAFYyy ] - - - - - -
s sy : : . . . :
K| T [PrmmRzy - - - - - -
3 |FhoroozFLy - - - - - -
H| g[tvromzsry - - - - - -
¥y - - - - - -
= B
R <0.06 - - <0.06 - -
e JUOEERE <0.002 - - <0.002 - -
AR 1n T V) 2N 0.002 - - 0.003 - -
H AR (d 73 <0.003 - - <0.003 - -
YTORIUOARY 0.002 - - 0.005 - -
B| |=zm <0.001 - - <0.001 - -
IR 0.006 - - 0.013 - -
) oo FEEE <0.003 - - <0.003 - -
JOEYZOOARY 0.002 - - 0.005 - -
ARSI <0.001 - - <0.001 - -
BFIVLT VTR <0.008 - - <0.008 - -
K HER RO ZDILEY) - - - <0.1 - -
B (7 NI=IAROEDEY 0.01 <0.01 0.01 0.02 0.02 0.02
;Jks‘ HROTDLEY) - - - <0.03 - -
B |mrozoran - : . <0.1 . -
’;‘ TRV LRGZ DAY - - - - - -
M|V H Y ROZEDEY <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
?:Q B 17 - - 28 - -
Fﬁ Wb, 30" AV90E (FEEE) - - - - - -
b
ENES - - - - - -
Iéﬁ B A SRETE A - - - - - -
B|yztz3v <0.000001 <0.000001 <0.000001 0.000003 0.000001 <0.000001
2-AFNAVRIN AT N <0.000001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001
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(2) BaKIGHIK

10 11 12 1 2 3 A
BA RN O (&K BN T &K BN T |RR RN E [EBOK RN Y (&K BN S HE
<l|<1] <1 |[<l <l| <1 [<1|<1| <1 |<l|<l| <l [<1|<l| <1 |<1 <1| <l |—feéfiE&f
et | et | TR [ e v ] TR [ rmen | oo | TR | omon | omn| FARH | ot ot TR | o o) TR | KEGE
- - - - - - | ARIVLAROEDEY
- - - - - - |KEBROZEDLE
- - - - - - |V ROZEDREY
- - - <0.001 - - RO EOEY
- - - - - - |eRRCZOEY
<0.002 - - <0.002 - - |Affizasid
- - - - - - |EEREESREESR
<0.001 - - <0.001 - - ST ATV ROEARS TV
- - - - - - |HERRERKOHEERRER |
- - - - - - | 7YERCZOMEY o
- - - - - - |RUERROZEDILEY i
- - - - - - |mEAbRSE
: : : : - A
: : : : : i
- - - - - - |[prooxzy K3 &
- - - - - - |FtsroozsLy %
- - - - - - |MroomzFLy H ‘
- - - - - S B V% % 5 "
0.09 - - <0.06 - - |EHEE
<0.002 - - <0.002 - - oo e
0.002 - - 0.001 - R A=) =}: )2
<0.003 - - <0.003 - - |PruukEg 18
0.004 - - 0.002 - - |p7oEroosazy
<0.001 - - <0.001 - - | RFER B
0.009 - - 0.005 - - |#hUAERZY
<0.003 - - <0.003 - - | M YOOERE
0.004 - - 0.002 - - |FoEvrouxzy
<0.001 - - <0.001 - - |[Fasdra
<0.008 - - <0.008 - - |AVLTINTRR
- - - <0.1 - - |ESRROEDILEY) x
0.01 - 0.01 0.01 0.01 0.01 |ZNI=VARVZDEY |E
- - - <0.03 - - |BRTZOEY ;Ji
; ; ; <0.1 : - |mrozoran g
- - - - - - |FNYLROED(LEY ’;
<0.001 - <0.001 <0.001 <0.001 <0.001[ VAV RO ZDILEY [
21 - - 19 - - |EiAy ?:i
- - - - - - | Wb, 30 RV96E () Eﬁ
E
- - - - - - |FEEEREY K3
- - - - - - | AV REE A Iéﬁ
<0.000001 - <0.000001 <0.000001 <0.000001 <0.000001| VLA AIY =]
<0.000001 - <0.000001 <0.000001 <0.000001 <0.000001) 2= AF VAV RN 3 A —)V
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(2) B K GRELIK

A 4 5 6 7 8 9
HE
BA BN T | BK BN Y |BRK BN EYE (R RN OEY ([BRAI RN S | BX BN FEE
X ;EJ{ FEA 7 RETE M - - - - - -
- Zﬁ: 7x/)—)VE - - - - - -
| % |A#m(ToC) 0.6 0.5 0.6 |04 04 04 |05 04 050605 0.6 )09 05 0.7 |10 0.6 08
é pH{E 74|72 73 |73/ 71 7.2 |7.2/71] 7.1 (73|71 7.2 |7.3|/71 7.2 73|71 7.2
B2 2850 BaLL 8L B#LL 8L BaLL
H §§ B LAY BEHRL EELL EHRL EHAL RELL
g I% mE <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
B |EE <0.1/<0.1] <0.1 |<0.1/ <0.1] <0.1 [<0.1]<0.1] <0.1 [<0.1/ <0.1 <0.1 [<0.1/<0.1] <0.1 |[<0.1 <0.1 <0.1
TvFEVRUOZDILEY - - - - - -
U5V ROZDEY - - - - - -
=V NVROZDILEY - - - <0.002 - -
1,2-yranxiy - - - - - -
My - - - - - -
TEWVEEY (2-TFINAFII) - - - <0.008 - -
GikESiYd - - - <0.06 - -
K [Yrooyeh=hIL <0.001 - - <0.001 - -
g |fakras—L <0.002 - - <0.002 - -
BRI *1 - - <0.1 - <0.1 -
BEER 0.52/0.46| 0.49 |0.56/0.50| 0.53 |0.56/0.50 0.53 |0.60|/0.50| 0.57 |0.72/0.60| 0.66 [0.80 0.62| 0.67
® NI L, T IV NE (FE) - - - - - -
H RUHVROZDILEY <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
B | - - - - - -
% |LLI-NronTzay - - - - - -
& | AT I - - - <0.002 - -
H HH (TOC) 0.6/0.5/ 0.6 [04 0.4 04 |05/04 0.5 |0.6 05 0.6 [09 0.5 0.7 |10 0.6 0.8
E&#E (TON) - - - - - -
: EHEEY - - - - - -
BE <0.1/<0.1] <0.1 |<0.1|<0.1] <0.1 |<0.1]<0.1] <0.1 [<0.1/<0.1] <0.1 [<0.1/<0.1] <0.1 [<0.1/<0.1] <0.1
pHf#E 74 72 73 |73/71 7.2 |(7.2/71 71 (73|71 7.2 |7.3/71 7.2 |7.3/7.1] 7.2
BREGYT Y 7R - - - - - -
EBR B E <1 <1 <1 <1 1 <1
1,1-YZ7unxFlL v - - - - - -
TINI=ZYLROZDILEY) 0.01 <0.01 0.01 0.02 0.02 0.02
PFOSKUPFOA - - - - - -
KR 7.6/ 4.6 6.0 [10.8/6.2 8.1 [15.7/8.8 11.9 |17.7/13.2| 15.0 [21.8 14.5| 18.8 |20.5 14.7| 17.8
BRIEEE 151 98| 118 [124| 78 | 97 [174) 97| 131 |191 108 153 |187|125 149 [225 142| 179
L S (GRS Y o)) - - - - - -
» |TrvEoTRESE - - - - - -
it BEIVHY - - - - - -
= TNHVE - - - - - -
TV L - - - - - -
= .
RTAVIL - - - - - -
DI - - - - - -
LARE (E260) 0.055]0.034| 0.044 | 0.038] 0.028| 0.032[0.044 0.031] 0.0390.068 0.042] 0.049]0.071 0.038] 0.055]0.138| 0.047| 0.065
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(2) BEAEKIBHELIK

10 11 12 1 2 3 A
BA BN Y BRI RN Y [BK RN (&K BN Y | RA BN Y |RA BN OEY A
- - - - - - |FE AV REENE g
7JE 7K
- - - - - - |7z—vE %‘ .
0.8/0.5 0.6 [0.6 0.5 0.6 |0.6 0.6 0.6 |0.6/ 05 0.5 |06 0.5 0.6 [0.6 0.5 0.5 |EHH(TOC) Z
7.3/7.1, 72 |73/72 72 |73|72 72 |(73|7.2 7.2 (7372 7.3 |74/ 72 7.2 |pHiE E £
8L BELL e BELL 8L L ks
EHEL EHRL EHAL RELL EXAL B¥aL  |BER ?@? H
<0.5 - <0.5 <0.5 <0.5 <0.5 (2 g g
<0.1,<0.1,_<0.1 |<0.1/<0.1] <0.1 [<0.1 <0.1 <0.1 |<0.1]<0.1] <0.1 |<0.1/<0.1] <0.1 [<0.1 <0.1 <0.1 |¥&E 1§
- - - - - - | TVFEVROZEDEY
- - - - - - |TIVROEDEY
- - - <0.002 - - | =Y INVRUZEDLED
- - - - - - |L2-Yrooxgy
- - - - - - Mz
- - - <0.008 - - |7EVEEY (2-ZFIAFIIL)
- - - <0.06 - - |HEIERRE
<0.001 - - <0.001 - - |Yroorver=tun 7K
<0.002 - - <0.002 - - |[fkras—in =
<0.1 - <0.1 - - - RS *1 -
0.68/0.62 0.65 |0.60/0.54| 0.58 [0.58 0.50| 0.53 |0.52/0.48] 0.49 [0.52/0.44 0.47 |0.50|0.42 0.46 |F&EFER
- - - - - - | BVTIL, RTITY NG (EE) =
<0.001 - <0.001 <0.001 <0.001 <0.001| RV HVRUZDILEY H
- - - - - - | L
- - - - - - |LL1-Mranzi&y %
- - - <0.002 - - | AFINt-TFNT—TI =
0.8/0.5/ 0.6 [0.6 0.5 0.6 |0.6 0.6 0.6 |0.6 05 0.5 |06 0.5 0.6 [0.6 0.5 0.5 |EHH(TOC) H
- - - - - - |E&5E(TON) g
- - - - - - |FEBEBEY
<0.1<0.1) <0.1 [<0.1/<0.1] <0.1 [<0.1 <0.1 <0.1 |<0.1|<0.1] <0.1 |<0.1/<0.1| <0.1 [<0.1/<0.1] <0.1 |¥&E
7371 7.2 |73/72 7.2 (73|72 7.2 |73|72| 7.2 |73/ 7.2 173 |(74/7.2 7.2 |pHiE
- - - - - - |BEEGYTYTEE)
<1 - 1 <1 <1 <l |feEFEME
- - - - - - |L,1->ZupzFlL v
0.01 - 0.01 0.01 0.01 0.01 |7NVI=ULKROZDILEY
- - - - - - |PFOSKUPFOA
15.8/10.2| 11.7 |8.9/5.6| 7.5 |5.9/3.0, 4.4 |3.6/2.3 3.0 [3.6/2.1| 2.7 [4.8/1.6] 3.0 [/Ki&
195/ 98 | 134 [149/101 122 |155 118 139 |227 126 158 |196 117 156 |282|131| 190 |EBE&RfzER
- - - - - - |BEKMEFRE (VY aE) a
- - - - - - |7rvEDvRES D
- - - - - - |\ UAY it
- - - - - - |7vaveE =
- - - - - - AL
- - - - - - |RTAVIL H
- - - - - - | AYTA
0.075 0.046| 0.058 | 0.055| 0.043] 0.049 | 0.054 0.047, 0.050] 0.054 0.034] 0.045 [ 0.063  0.039| 0.044 | 0.060| 0.035| 0.041 | LEAMREIEILE (E260)
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(3) EE K GHE K (PR ALTZFEIST H)

A 4 5 6 7 8 9
HH =oNE= NI = o NEU N 2=l k- NE ANl kP NE - ZNEE S =l E oo NE - N 2=l o NE S AN 2 =]
— AR <1 <1 <1 <1 <1 <1
KIGE TR TR TR TR TR TR
ARIYLROTEDEY - - - <0.0003 - -
IKER RO DAL EY) - - - <0.00005 - -
VY ROZDLEY - - - <0.001 - -
RO T DILEY - - - <0.001 - -
LEROZDILEY 0.001 <0.001 0.001 0.002 0.004 0.002
Nfiza AMbEY <0.002 - - <0.002 - -
HAHSREER - - - <0.004 - -
ST A Y RO TV <0.001 - - <0.001 - -
(i (R ER KO HEHRBRER - - - <1 - -
i TYRROZEDLEY - - - <0.08 - -
- RYEROEDLED 0.1 <0.1 0.1 0.3 0.4 0.3
iRk SR - - - <0.0002 - -
. L4-UAFYv - - - <0.005 - -
s [9A-1.2-Y Jnnzfl RO
MvA-1,2-Y" Junzfly - - - <0.004 - -
K| T [Prmmazy - - - <0.002 - -
% |FhorupnzFLv - - - <0.001 - -
= g | P yonTFLY - - - <0.001 - -
eV - - - <0.001 - -
= B
e <0.06 - - <0.06 - -
e JUOEERE <0.002 - - <0.002 - -
VAR 1n 0 V) 2N 0.002 0.002 0.003 0.005 0.005 0.007
m| [P7ooEEE <0.003 - - 0.003 - -
TUTOEIAOARY 0.002 0.001 0.002 0.005 0.006 0.006
B R <0.001 - - <0.001 - -
AN =R 0.007 0.005 0.008 0.017 0.018 0.021
PA=L=]iF ] <0.003 - - <0.003 - -
JOEYZOOARY 0.003 0.002 0.003 0.007 0.007 0.008
JaERIVA <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
FIVLT VTR <0.008 - - <0.008 - -
K HIN RO DAY - - - <0.1 - -
B (7= AROEDEY <0.01 <0.01 <0.01 0.02 0.02 0.02
;Jks‘ RO ZDILEY) - - - <0.03 - -
B |mrozoran - : ; <01 . .
’;‘ FRIYLRGZ DAY - - - 14 - -
fé RVHVROZDED <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
f:i B A 16 10 12 21 23 26
B8 wvon, v aomnss () 34 - - 33 - -
b
ERESiEs 80 - - 100 - -
Iéﬁ fao1 A ST A - - - <0.02 - -
B|vziz3v <0.000001 <0.000001 <0.000001 0.000003 0.000001 <0.000001
2-AFNAVRIN AT <0.000001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001
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(3) BB IAK (h K 7 4715 T H)
10 11 12 1 2 3 =
BA RN O (&K BN &K BN T |RR RN E [BK RN (&K BN S HH
<1 <1 <1 <1 <1 <1 | —f&E
TR TR TR TR TR T | KRG E
- - - <0.0003 - - | ARIVLROZEDLAEY
- - - <0.00005 - - |KERTZOEY
- - - <0.001 - - VY RCZOIREY
- - - <0.001 - - |SARUZDIEY
0.002 0.001 0.001 0.002 0.002 0.002 | ERUZDEY
<0.002 - - <0.002 - - |Affizasiee
- - - <0.004 - - | EmEppREER
<0.001 - - <0.001 - - |[yToA A RO T
- - - <1 - - |EEARRER R UEMSERER | g
- - - <0.08 - - | 7YERCZOLEY B
0.4 0.2 0.1 0.3 0.4 0.2 |RVERVUZDILEY -
- - - <0.0002 - - |MEAbRSE
- - - <0.005 - - |LA-IAFHY ] .
VA-1,2-9" Junssly ROF &
- - - <0.004 - - |MvA-1,2-¥ Jnuzfly
- - - <0.002 - - |prooxsy KB X
- - - <0.001 - - |FhErupzFLy 3
- - - <0.001 - - [proozsLy % =1
- - - <0.001 - S £ Y 4 5
0.08 - - <0.06 - - R &
<0.002 - - <0.002 - - |ZuOpEE e
0.004 0.005 0.002 0.002 <0.001 0.001 | ZTadls
0.003 - - <0.003 - - |YruniiEk 1
0.006 0.003 0.002 0.003 0.003 0.002|Y7oErouiay
<0.001 - - <0.001 - - |RERR =l
0.018 0.013 0.007 0.008 0.006 0.006 |#ARUNTAZY
0.004 - - <0.003 - - |MIODERE
0.006 0.005 0.003 0.003 0.002 0.002|7oEYrOuiay
0.001 <0.001 <0.001 <0.001 <0.001 <0.001| 7EEFIL
<0.008 - - <0.008 - - |ABVLATATRER
- - - <0.1 - - |ESRROZEDLEY X
0.02 0.01 0.01 <0.01 <0.01 <0.01|PNI=VARVZDEY |E
- - - <0.03 - - |BRTZOEY ;Ji
; ; . <0.1 . - |mrozoran g
- - - 13 - - |FMTARCEOE 2
<0.001 <0.001 <0.001 <0.001 <0.001 <0.001[ XV H VRO ZDILEY Fﬁ
24 15 12 19 27 18 |EM1A4 jj:i
37 - - 34 - - |roh, 39 RYIASE (REEE) B
b
120 - - 110 - - |EnmEYy El
- - - <0.02 - - B AV REE A %
<0.000001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001 | VA AIV H
<0.000001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001) 2= AFIWVAYV RN A )V
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(3) EEE KGR (PR X AL TZFE15T H)

A 4 5 6 7 8 9
HHE
BA BN Y | BRI RN FY [BK RN OFY (&R BN Y | RA BN Y |RA BN OEYE
& ZJEJ{ FEA AV R E A - - - <0.002 - -
o %‘ 7x)—)VHE - - - <0.0005 - -
| % |Asm(ToC) 0.6 0.4 0.5 0.6 0.6 0.8
% E pH/# 7.3 7.2 7.3 7.1 7.2 7.3
B 2Ll 2L 2EnL 2EnL 2Ll 2EnL
H §§ B LAY BEHRL EHAL RELL EHAL RELL
g é mE <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
H [ <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
TVFEVROZDILEY - - - <0.002 - -
IV ROZDILEY - - - <0.0002 - -
=V NVROZDILEY - - - <0.002 - -
1,2-yraonTiy - - - <0.0004 - -
|24 - - - <0.040 - -
TENVEEY (2-TFINAFI)) - - - <0.008 - -
GikESiYd - - - <0.06 - -
K [Yrooyeh=hIL <0.001 - - <0.001 - -
g |fakras—L <0.002 - - <0.002 - -
- RS 1 - - - - - -
FEIER 0.48 0.50 0.48 0.42 0.46 0.56
= ISR, T AT % () 34 - - 33 - -
H RUHVROZDILEY <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
B e 2.8 - - 2.2 - -
& |LLl1-pyroozay - - - <0.030 - -
& | AFNtTFNT=T - - - <0.002 - -
H B (TOC) 0.6 0.4 0.5 0.6 0.6 0.8
S K548 (TON) - - - - - -
: ERTEEY 80 - - 100 - -
BE <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
pHf#E 7.3 7.2 7.3 7.1 7.2 7.3
BEM (ST TIEE) -2.1 - - -2.1 - -
EEEEME 4 2 1 <1 1 <1
L1-Yr7ogzFLyv - - - <0.010 - -
TINI=ZDLROZDEY) <0.01 <0.01 <0.01 0.02 0.02 0.02
PFOSKUPFOA <0.000005 - - 0000005, - -
iR 5.9 9.4 11.0 15.9 18.1 20.7
BRUEER 134 87 123 137 163 185
T |BEEHFREE (YY) - - - - - -
O |TreE=TRESE - - - - - -
it BEIVHY - - - - - -
® TIVHVE 18 - - 19 - -
FIVTI I 10 - - 10 - -
A XTIV L 2.1 - - 1.8 - -
AV L 1.2 - - 2.0 - -
SHRIBOERE (E260) 0.042 0.028 0.030 0.044 0.046 0.062
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(3) EEEHKIGHEK (R R TZFEI5T H)
10 11 12 1 2 3 A
BA BN Y BRI RN Y [BK RN (&K BN Y | RA BN Y |RA BN OEY AR
- - - <0.002 - - |FEA AV RmEE A ZJEJ{ &
- - - <0.0005 - - |7z/—NVE %‘ "
0.6 0.7 0.6 0.5 0.8 0.5 |&HE(TOC) il
7.1 7.2 7.2 7.2 7.2 7.4 |pHi& i £
B R2EnL B 2EnL B mEnl |k ks
BHEL EHRL EHAL RELL EXAL L T ?@? H
<0.5 <0.5 <0.5 <0.5 <0.5 <0.5 | g g
<0.1 <0.1 <0.1 <0.1 <0.1 <0.1 [&E 1§
- - - <0.002 - - |7V FEVRUOEDLEY
- - - <0.0002 - - |UIVROZEDLED
- - - <0.002 - - | =Y I NVROZEDLED
- - - <0.0004 - - |L2-Yroozgy
- - - <0.040 - - |[dbrzy
- - - <0.008 - - | 7RVEEY 2-TFNAFVIL)
- - - <0.06 - - |HIERE
<0.001 - - <0.001 - - |[YrooyvEr=hIY 7K
<0.002 - - <0.002 - - |[fkras—in 5
- - - - - - |emsE *1 -
0.54 0.60 0.50 0.44 0.38 0.42 |FREIER
37 - - 34 - - |Ivewa, <o n% () ®
<0.001 <0.001 <0.001 <0.001 <0.001 <0.001| XV H Y RUZDILEY H
2.9 - - 2.5 - - |EEERER =
- - - <0.030 - - |LL1-p ooy B
- - - <0.002 - - | AFt-TFNT—TI =
0.6 0.7 0.6 0.5 0.8 0.5 |HHE#H(TOC) el
- - - - - - |R&58E(TON)
120 - - 110 - - |EFEEREY :
<0.1 <0.1 <0.1 <0.1 <0.1 <0.1 [&E
7.1 7.2 7.2 7.2 7.2 7.4 |pHfE
-2.0 - - -2.2 - - |BEEGYY TR
<1 <1 <1 3 <1 1 |[REEREME
- - - <0.010 - - |L1-vroozFLy
0.02 0.01 0.01 <0.01 <0.01 <0.01| 7N =T AR UZEDILEY
<0.000005 - - <0.000005 - - |PFOSKUPFOA
17.3 13.4 7.2 4.6 3.6 3.2 [KiE
175 126 111 150 175 136 |ERIEER
- - - - - - |BEEMEEEREE (V oV 2 B) s
- - - - - - |7rvEDvRES 1))
- - - - - - |y it
19 - - 18 - - |7vavE
12 - - 10 - S 2 2%
2.0 - - 2.1 - S S L V472N |
2.5 - - L9 - - |Auva
0.053 0.049 0.045 0.041 0.035 0.038 | SEAMRILLEE (E260)
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BIIKi5
(1) ) 1[# KI5 K

A 4 5 6 7 8 9
HE B BN T (BX BN T (BX BN T (B BN VY (B BN T |BA BN T
— A 77119 51 |94 25| 53 [690] 39| 310 |1400/ 610 940 [5900/1200/ 2500 |1300 630, 1000
KEGE 16 6.3 11 [6.3/2.00 3.9 |24 6.3 16 | 74|27 47 [730 40 190 |260] 62| 140
HRIVLKROZDLED - - - <0.0003 - -
HERROZ DAY - - - <0.00005 - -
VUKD EDIEY - - - <0.001 - -
ShRUZ DAY - - - <0.001 - -
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1 - - - - - |RKEEE(TON)  #3
100 - - 100 - - |EEEREY :
18 04| 2.1 |12]0.2 1.3 [1.1/0.3] 0.6 |0.9/ 0.3 0.5 |87 0.4 0.9 [3.9/0.3 0.7 [EE
7574 7.5 |75/7.2 74 |74 72| 73 (74 72| 73 [75/72 7.3 |7.4|7.2 7.3 |pHiE
- - - - - - |BEUGYTITER)
25000 110000 5000 4900 2800 4900 |(EEHREME
- - - <0.010 - - |L1-osupnzFLy
0.07 0.30 0.10 0.12 0.13 0.10 [PINI=UAROZEDILEY
<0.000005 - - <0.000005 - - |PFOSKUPFOA
15.3/ 7.9 10.9 [11.9/ 1.0| 6.4 [4.9 0.5 1.6 | 1.6/ 0.3 0.8 |2.4/0.4 0.9 [3.8/0.4 1.4 [KkiE
147) 99| 123 |129 90| 109 |128/104| 117 [146|121 133 [145 105 133 |140/103 131 |ERfEER
1 /<1 <1 |3 <1 <l |<l <1 <l |<1|<1| <1 |2/|<1| <1 |3 <1 <1 |BRGMZFHELY2H) e
<0.02| <0.02| <0.02 <0.02| <0.02] <0.02| <0.02| <0.02] <0.02| <0.02| <0.02] <0.02]<0.02| <0.02] <0.02|<0.02| <0.02| <0.02| V> E=THEEE
0.005 0.009 0.031 0.026 0.030 0.032|EFEI VAV "
24 - - 16 - - |7vavE
14 - - 13 - - e )
2.2 - - 2.4 - - |xZARVVL H
0.75 - - 0.65 - - |AvTa
0.393]0.109| 0.157 | 0.407] 0.001| 0.144 [0.148 0.067| 0.084 [0.079| 0.064| 0.069]0.181 0.060, 0.074 | 0.124| 0.068] 0.082 | EEAMERIEE (E260)
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(2) EHTHKIGRLK

A 4 5 6 7 8 9
HH BA RN O (&K BN T &K BN | RK RN [ EBOK BN (&K BN S
— A <l <1l|] <1 [<1 <1l] <1 [<1|<]| <l |<1|<]l| <l |<l|<] <l |<l|<1 <1
KIGE et | et | TR [ e v AR | e | e | AR | et o) AR | et | et | TR | | i) TR
ARIVLROZDEY - - - - - -
KERR O ZDILEY - - - - - -
LV ROZEDILEY - - - - - -
RO T DILEY) - - - <0.001 - -
LEROZDILEY - - - - - -
ANfiz v 2MbEY <0.002 - - <0.002 - -
HEHRARREE R - - - - - -
ST A AV RO TV <0.001 - - <0.001 - -
i [HREER KO HEHBERER - - - - - -
B TYRROZEDLEY - - - - - -
- FURROTDILEY) - - - - - -
g A 3R - - - - - -
. 1,4-UAFH v - - - - - -
s [7A-1.2-Y Jnnsfl RO
vA-1,2-Y Junzsly - - - - - -
K| T [Prmmazy - - - - - -
3 |FhorunzFLy - - - - - -
= g | P yoOnTFL Y - - - - - -
¥y - - - - - -
= B
R <0.06 - - <0.06 - -
e JUOEERE <0.002 - - <0.002 - -
AR 1n 0 V) 2N 0.001 - - 0.007 - -
g |PYOuEE <0.003 - - 0.004 - -
TUTORIOOARY 0.002 - - 0.001 - -
B IS <0.001 - - <0.001 - -
BhUNDOAZY 0.005 - - 0.013 - -
[DRZA=d=] (173 <0.003 - - 0.004 - -
JOEYZOOARY 0.002 - - 0.004 - -
TUERIVA <0.001 - - <0.001 - -
BIVLT VTR <0.008 - - <0.008 - -
K HER RO Z DAY - - - <0.1 - -
B (7= AROEDEY <0.01 0.01 0.01 0.02 0.03 0.03
;Jks‘ RO T DILEY) - - - <0.03 - -
B |mrozoran - - . <01 . -
’;‘ FRIYLRGZ DAY - - - - - -
M [ AU ROZDEY <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
?:Q EAA A 12 - - 10 - -
B oo, " w90 () - - - - - -
b
ENES - - - - - -
Iéﬁ faA1 A ST A - - - - - -
B|vztz3v <0.000001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001
2-AFNAVRINV AN <0.000001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001
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(2) R RIB ALK
10 11 12 1 2 3 A
=oNE= NI oo NESU NI 2= b= NE ANl kS NE - ZNEE S =l E o NE =N 2=l E o NE S U o =] HH
<l|<1]| <1 |[<l <l| <1 [<1]|<1| <1 |<l|<l| <l [<1|<l| <1 |<1 <1| <l |—feéfii&f
et | et | TR [ e | AR [ rmen | oo | AR | omen | mmes | MR | ot | ot | FARES | e o) TR | KEGE
- - - - - - | ARIVLAROEDEY
- - - - - - |KEBROZEDLE
- - - - - - |RVVRUEDLEY
- - - <0.001 - - |BARUZDIEY
- - - - - - |eRERCZOEY
<0.002 - - <0.002 - - |Affizasies
- - - - - - |HEREERRER
<0.001 - - <0.001 - - |ETARAA Y RO T
- - - - - - |HERRERKOHEEBRER |
- - - - - - |7YERRCZEDLE o
- - - - - - |RUERROZEDILEY i
- - - - - - |mEAbRSE
: : : : : A
: : : : : e e
- - - - - - |yrooxay Tk
- - - - - - |FhsrmozFLy 3
- - - - - - |rMropTFLy H =1
- - - - - - Ry 5 "
<0.06 - - <0.06 - - |EHEE
<0.002 - - <0.002 - - |yooEg e
0.005 - - <0.001 - - |Zuodvs
0.004 - - <0.003 - - |YruniE 1
0.003 - - 0.002 - - |y7oErooazy
<0.001 - - <0.001 - - |RERR =l
0.013 - - <0.004 - - |[Frunorzy
0.004 - - <0.003 - - |MIODEE
0.005 - - 0.002 - - |FoEvrooisy
<0.001 - - <0.001 - B PAEE = 2N
<0.008 - - <0.008 - - |AVLTINTER
- - - <0.1 - - |EIRROZEDLEY) X
0.02 0.02 <0.01 <0.01 <0.01 <0.01|PNI=VLARUZDEY |E
- - - <0.03 - - |BRTZOEY ;Ji
; ; ; <0.1 . - |mrozoran g
- - - - - - |FMTARCEOE ’;
<0.001 <0.001 <0.001 <0.001 <0.001 <0.001[ X VAV R ZDILEY [
11 - - 11 - - B ?:Q
- - - - - - |roh, 39 RYASE (REEE) Eg
E
- - - - - - |FEEREREY K3
- - - - - - | AV REE A Iéﬁ
<0.000001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001| VA AIY H
<0.000001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001) 2= AF VAV RN 3 A —)V
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(2) EHTEKIGRLK

A 4 5 6 7 8 9
HE
B BN Y | BRI RN Y [BK RN Y (&K BN Y | RA BN Y |RA BN OEY
& ;EJ{ e AV R E R - - - - - -
- fﬁj 7x)—)VHE - - - - - -
| % |Asm(ToC) 0.5 0.4 0.4 |05 03 04 |05 05 050705 0.6 09 0.6 0.7 |10 05 0.7
& E pH{E 73|72 72 |73/ 72 7.2 73|72 73 (73|72 7.3 |74|72 7.3 |7.5|7.2] 7.3
¥ e BaLL e BanL e BaLL
H Eé 55 EXAAY BELL EELL BELL AV BELL
=] %E_ mBE <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
B EE <0.1/<0.1] <0.1 |<0.1] <0.1 <0.1 [<0.1/<0.1] <0.1 |<0.1 <0.1 <0.1 |<0.1|<0.1 <0.1 [<0.1 <0.1] <0.1
TVFEVRUZDEY - - - - - -
U5V ROZDILEY - - - - - -
=V NVROZDILEY - - - <0.002 - -
1,2-yranxiy - - - - - -
Mrzy - - - - - -
TENVEEY (2-TFINAFI)) - - - <0.008 - -
GirESiYd - - - <0.06 - -
K [Yroor7eh=hIL <0.001 - - <0.001 - -
g |fakras—L <0.002 - - <0.002 - -
B *1 - - <0.1 - <0.1 -
BEER 0.42/0.36| 0.40 |0.44/0.38| 0.40 |0.48/0.38| 0.43 |0.560.42| 0.47 |0.58/0.46/ 0.51 [0.54 0.46 0.50
= NI L, RTFIVINE (BE) - - - - - -
RVHAVROZDILEY <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
B | - - - - - -
&% |LLI-NroonTzay - - - - - -
& | AFNA-TFNT—F) - - - <0.002 - -
H HH (TOC) 0.5/0.4| 0.4 [05 0.3 04 |05/05 0.5 |07 05 0.6 [09 0.6 0.7 |10 05 0.7
H&X54E (TON) - - - - - -
: EHTREY - - - - - -
BE <0.1/<0.1] <0.1 [<0.1]<0.1] <0.1 [<0.1/<0.1] <0.1 |<0.1/<0.1 <0.1 |<0.1|<0.1] <0.1 [<0.1] <0.1] <0.1
pHfE 73|72 72 (73 72 72 |73/72 7.3 |73 72 73 |74 72 7.3 (75|72 7.3
BREGYT Y7 - - - - - -
e B AT <1 2 <1 <1 <1 2
1,1-YZ7unxzFlL v - - - - - -
TIVI=ZULROZDILEY <0.01 0.01 0.01 0.02 0.03 0.03
PFOSKUPFOA - - - - - -
7KIE 7.3/4.4 5.5 [12.3/7.2] 9.4 [17.3/10.8| 13.8 |20.6/15.1 17.7 [22.4/19.5| 2l.1 [21.8/14.8 18.3
BRIZER 11182 97 |113/ 79| 89 |148|105 123 |143| 113 130 |168 138 152 [178 145| 154
T |BKEFREE (VLY 2 ) - - - - - -
D |TrvE=TRERE - - - - - -
it BEIVAHY - - - - - -
m TIVAVE - - - - - -
VT L - - - - - -
H .
RTIII A - - - - - -
AL - - - - - -
LARTE (E260) 0.035]0.022| 0.030]0.035/ 0.023| 0.0290.061 0.032] 0.0400.074 0.042] 0.050]0.081 0.043] 0.056 ] 0.087| 0.044| 0.056
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(2) EHT KIS HL

7K

10

11

12

B/

T4

/N

B/

T4

/N

RRz) U

T4

/N

FEA A FRETE A

0.8

0.7

0.4

0.5

0.4

0.3

0.5

0.5

0.4

7x/)—I)VER
HHH) (TOC)

7.3

7.3

7.3

7.3

7.3

7.4

pH{#
R

A
mE

<0.1

<0.1

<0.1

<0.1

<0.1

<0.1

<0.1

<0.1

<0.1 <0.1

<0.1

<0.1

<0.1

BE

H

I i} O o} i 38 77

TVFEVRUZDILED

U7V ROZEDLEY
=T NVROZDILEY

1,2-yrunxiy

[

<0.008

<0.06

TEVEED (2-ZFNAFV)V)
IR R

<0.001

<0.002

<0.001

<0.002

Yrunay7eh=rl

fakras—i

0.50

0.42

<0.1

0.45

0.48

0.38

0.44

0.44

0.36

<0.1

0.40

0.36

0.40/0.36

0.38

0.42

0.38

0.39

TREIER

*1

<0.001

<0.001

<0.001

<0.001

<0.001

AN L, T2 L5E (BE)

RUAVROTDILEY)

plcd pd17 3
L,L1-MW ooz iy

0.8

0.6

0.7

0.4

0.5

0.4

<0.002

0.4 |10.5

0.5

0.4

AFN-t-TFIVT—F)
¥ (TOC)

HKEE (TON)
RATREY

<0.1

7.3

<0.1

7.2

<0.1

7.3

<0.1

7.3

<0.1

7.2

<0.1

7.3

<0.1

7.3

<0.1

7.1

<0.1

7.3

<0.1

7.3

<0.1

7.1

<0.1 |[<0.1/<0.1

7.2 |73

<0.1

7.2

<0.1

7.4

<0.1

7.1

<0.1

7.2

B
pH{#

<1

<1

<1

<1

BEME (ST 718
BB

0.02

0.02

<0.01

<0.01

<0.01

L1-YropzFLyv

TIVI=ZULROZDLEY)

PFOSKUPFOA

pi

i

m

15.6

9.3

12.0

10.8

3.3

7.4

4.3

0.8

1.5

1.0 | 1.7

1.0

3.2

0.5

1.5

7K

165

126

138

152

113

125

138

115

147

134

141 159129

145

151

134

144

EE 2

BSMEFIE (V)Y 2 H)

FUESTRER
BREXVHY

TNV E
FIVII L

RTAYT L
VDMIN

0.085

0.042

0.053

0.071

0.034

0.048

0.039

0.024

0.031

0.029

0.021

0.027 [0.042) 0.026

0.031

0.036

0.027

0.031

SEA B (E260)

i
H
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(3) EHT KGR (FREXFRFE3Z5T H)

A 4 5 6 7 8 9
HH BA RN O (&K BN T &K BN | RK RN [ EBOK BN (&K BN S
— R <1 <1 <1 <1 <1 <1
KIGE TR TR TR TR TR TR
ARIYLROTZEDEY - - - <0.0003 - -
IKER O DAL EY) - - - <0.00005 - -
LV ROZEDILEY - - - <0.001 - -
RO T DILEY - - - <0.001 - -
LRKPZDLEY <0.001 <0.001 <0.001 <0.001 0.001 0.001
ANfiz v 2MbEY <0.002 - - <0.002 - -
AN REER - - - <0.004 - -
ST A A Y RO TV <0.001 - - <0.001 - -
i (R ER KO HEHRERER - - - <1 - -
i TYRRUZDILEY - - - <0.08 - -
- RYEROEDLED <0.1 <0.1 <0.1 <0.1 0.1 0.1
iRk R SR - - - <0.0002 - -
. L,4-UAFYv - - - <0.005 - -
s [7A-1.2-Y Junsf L RO
MvA-1,2-Y" Junzfly - - - <0.004 - -
K| T [Prmmazy - - - <0.002 - -
% |FhorupzFL v - - - <0.001 - -
= g | P yoonTFLY - - - <0.001 - -
eV - - - <0.001 - -
= =l
R <0.06 - - <0.06 - -
e JUORERE <0.002 - - <0.002 - -
ZAuint: ) 7N 0.002 0.001 0.005 0.009 0.009 0.008
g |PYUuEE <0.003 - - 0.004 - -
DA A= P T 0.002 0.001 0.001 0.002 0.004 0.004
B S <0.001 - - <0.001 - -
fBhuNaXRY 0.006 0.005 0.010 0.016 0.020 0.020
NPZA=L=]iF ] <0.003 - - 0.005 - -
JUEIZOuARY 0.002 0.002 0.004 0.006 0.008 0.008
TUERIVA <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
BIVLTIVTER <0.008 - - <0.008 - -
K HIN RO EDILEY - - - <0.1 - -
B (7= AROEDEY <0.01 <0.01 0.01 0.02 0.03 0.03
;Jk:* SR ZDILEY) - - - <0.03 - -
B |mrozoran - . : <01 . ;
’;‘ FRIYLRGZ DAY - - - 11 - -
fré RUHVROZDED <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
j}:{ EAL A 12 9 10 11 11 12
Eﬁ Wb, 30" AV90E (FEEE) 27 - - 30 - -
E
ENES 70 - - 80 - _
Iéﬁ A 7 SEETE R - - - <0.02 - -
B|vztz3v <0.000001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001
2-AFNAVRINVAA—N <0.000001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001
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(3) =T KI5 HE

K (FREEAERESS5T H)

10

11

12

1

A
=oNE= NI oo NESU NI 2= b= NE ANl kS NE - ZNEE S =l E o NE =N 2=l E o NE S U o =] HH
<1 <1 <1 <1 <1 <1 |—f&E
TR TR TR TR TR Tk | KEGE
- - - <0.0003 - - | ARIVLROZEDLEY
- - - <0.00005 - - |KERTZDEY
- - - <0.001 - - VY RCZOIREY
- - - <0.001 - - AU DAY
<0.001 <0.001 <0.001 <0.001 <0.001 <0.001{ e ERTZDILEY
<0.002 - - <0.002 - - |Affizasiee
- - - <0.004 - - | EEBREER
<0.001 - - <0.001 - - |[yToA A RO T
- - - <1 - - |ERARRER R UEMMEER |
- - - <0.08 - - | 7YERCZOLEY B
0.1 <0.1 <0.1 <0.1 <0.1 <0.1 [KRVERVZD(LEY) -
- - - <0.0002 - - |EAbRE )
- - - <0.005 - - |L4A-IAFHY ] o
VA-1,2-9" Junssly ROF &
- - - <0.004 - - |Mva-1,2-Y" yonzfly
- - - <0.002 - - |vronxzy Tk
- - - <0.001 - - |FhEruopzFLY 3
- - - <0.001 - - [pwroozsLy H =1
- - - <0.001 - R £ Y 4 5
<0.06 - - <0.06 - - |EER =
<0.002 - - <0.002 - - |yooEg e
0.005 0.005 0.001 <0.001 <0.001 <0.001| ZEBAINL
0.004 - - <0.003 - - |YruniiEg 8
0.003 0.001 0.002 0.002 0.002 0.002|Y7oErouiay
<0.001 - - <0.001 - - |RERR =l
0.013 0.010 0.005 <0.004 <0.004 <0.004|FREYNTAZ Y
0.005 - - <0.003 - - |MIODEE
0.005 0.004 0.002 0.002 0.001 0.002|7OEYrOOAZY
<0.001 <0.001 <0.001 <0.001 <0.001 <0.001| 7 EERIL
<0.008 - - <0.008 - - |AVLTINTRR
- - - <0.1 - - |ESRROEDLEY) X
0.02 0.02 <0.01 <0.01 <0.01 <0.01|PNI=VLAROZDEY |E
- - - <0.03 - - |BRTZOEY ;Ji
; ; : <01 . - |mrozoran g
- - - 9.1 - - |FMTARCEOE 2
<0.001 <0.001 <0.001 <0.001 <0.001 <0.001[ X VAV RO ZDILEY ‘EE
11 10 10 10 11 11 [EeA4v W:{
44 - - 41 - - |vroh, 39 RYIASE (REEE) Eﬁ
b
110 - - 100 - - |ERmEY El
- - - <0.02 - - BV R EEEA Iéﬁ
<0.000001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001| VA AIY H
<0.000001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001) 2= AF VAV RN A A —)V
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(3) EHT KGR (FREX 35T H)

A 4 5 6 7 8 9
HE
BA BN Y | BRI RN FY [BK RN OFY (&R BN Y | RA BN Y |RA BN OEYE
& ZJEJ{ FEA AV R E A - - - <0.002 - -
» %‘ 7=V - - - <0.0005 - -
7 |&Hem(TOC) 0.5 0.3 0.5 0.7 0.6 0.6
% ; pH{& 7.2 7.3 7.3 7.2 7.3 7.4
H2 iU auLL 2HiL aELL BHEL aEnL
H §§ B& LAY BEHRL EHAL RELL EHAL RELL
=] é BE <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
H [ <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
TVFEVROZDILEY - - - <0.002 - -
VIV ROZDEY - - - <0.0002 - -
=V NVROZDILEY - - - <0.002 - -
1,2-yraonTiy - - - <0.0004 - -
|24 - - - <0.040 - -
TENVEEY (2-TFINAFI)) - - - <0.008 - -
GikESiYd - - - <0.06 - -
K [Yrooyeh=hIL <0.001 - - 0.001 - -
g |fakras—L <0.002 - - <0.002 - -
- RS 1 - - - - - -
FREIER 0.30 0.44 0.44 0.42 0.48 0.46
= NI L, T I NE (FE) 27 - - 30 - -
H RUHVROZDILEY <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
B | 1.8 - - 1.3 - -
& |LLl1-pyroozay - - - <0.030 - -
& | AFNtTFNT=T - - - <0.002 - -
H ¥ (TOC) 0.5 0.3 0.5 0.7 0.6 0.6
R K58 (TON) - - - - - -
: ERTEEY 70 - - 80 - -
BE <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
pHf#E 7.2 7.3 7.3 7.2 7.3 7.4
BEM (ST TIEE) -2.4 - - -2.1 - -
EEEEME 14 1 4 6 <1 4
L1-Yr7ogzFLyv - - - <0.010 - -
TINI=ZDLROZDEY) <0.01 <0.01 0.01 0.02 0.03 0.03
PFOSKUPFOA <0.000005 - - 0000005, - -
KR 5.4 8.4 11.4 15.6 20.1 20.9
BEREEE 112 86 123 121 146 147
T |BEEFREE (YY) - - - - - -
O |TrE=TRESE - - - - - -
it BEIVHY - - - - - -
® TNVAVE 16 - - 19 - -
FIVTI I 8.0 - - 9.0 - -
H RTXVI L 1.8 - - 1.7 - -
AV L 0.59 - - 0.85 - -
SHRIBOERE (E260) 0.031 0.024 0.038 0.051 0.043 0.047
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(3) EET K IGHA

K (FHEXAERESS5T H)

10 11 12 1 2 3 A
BN O O|ERA BN OEY |RA BN | B BN Y [BK RN [EK BN T AR
- - - <0.002 - - |FEA AV RmEE A ZJEJ{ &
- - - <0.0005 - - |7z %‘ .
0.5 0.7 0.4 0.4 0.4 0.4 |&HEM(TOC) al
7.3 7.3 7.3 7.3 7.2 7.3 |pHIE i £
a0 BaLL =R BaLL 8L manL |k ks
BHEL EHRL EHAL RELL EXAL L T ?@? H
<0.5 <0.5 <0.5 <0.5 <0.5 <0.5 | g =]
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0.035

0.051

0.039

0.026

0.0320.041 0.029

0.036

0.059

0.031| 0.040

0.077

0.033

0.045

0.098

0.051| 0.069

*] BREFOMIE, BTRHME/ BFEIOARELZEDTH S,
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(2) R LLiE KIS ALK

10 11 12 1 2 3 A
A Bubh Y | Bk BN Y Bk BN Bk Buh P [Bok B I | BK Buh F AA
- - - - - - IRV REE M g
7K 7K
- - - - - S PEVAL | j’g‘ "
0.8/0.5| 0.7 |0.8 0.5/ 0.7 |0.7/0.4 0.5 [0.5 0.4 0.4 [0.6/0.4 0.5 |0.5 0.4 0.4 |[H&#H(TOC) Z
7471 7.2 (7371 7.2 |73|72| 7.2 |74/7.2| 7.3 |7.4/7.1] 7.3 |7.4 7.2| 7.3 |pH{# ; &
B2HEHZU B2HERU BELRL BERL H2HEZL BERL 7S ?i %E
LAY LAY LAY LAY LAY CL AV ?§ H
<0.5 <0.5 <0.5 <0.5 <0.5 <0.5 | g =]
<0.1 <0.1 <0.1 [<0.1 <0.1] <0.1 |<0.1/<0.1 <0.1 [<0.1 <0.1 <0.1 |<0.1/<0.1 <0.1 [<0.1 <0.1] <0.1 [&E §
- - - - - - |TVFEVRUOEDILEY
- - - - - - |UIVRUZEDEY
- - - <0.002 - - | =Y VEROED(LEY
_ _ . - - - |L2-vrmnzay
- - - - - S L2
- - - <0.008 - - | 7RVEEY 2-TFNAFVIL)
- - - <0.06 - - |EIERR
<0.001 - - <0.001 - - |Yrzooyeb=pu 7K
<0.002 - - <0.002 - - |[fkras—in =
<0.1 - <0.1 - - - | B *1 -
0.58/0.42| 0.49 [0.48/0.36/ 0.41 |0.42 0.34| 0.37 |0.48/0.34| 0.39 [0.42/0.36/ 0.39 |0.42/0.36] 0.39 |FEEiER
- - - - - - | PVIIL, R TAVILE () =
<0.001 <0.001 <0.001 <0.001 <0.001 <0.001| XVA YV ROEDILEY)
- - - - - - | =
- - - - - - |LL1-pZoBnzZY 4
- - - <0.002 - - [ AFNVt-TFNT—TN =
0.8/0.5| 0.7 |0.8 0.5/ 0.7 |0.7/0.4 0.5 [0.5 0.4 0.4 [0.6/0.4 0.5 |0.5 0.4 0.4 |[HE#H(TOC) H
- - - - - - |®=K58E (TON)
- - - - - - |EREEY :
<0.1/<0.1| <0.1 [<0.1 <0.1] <0.1 |<0.1/<0.1| <0.1 [<0.1/<0.1] <0.1 |<0.1|<0.1| <0.1 [<0.1/<0.1| <0.1 [V&E
7471 7.2 (7371 7.2 |7.3|72 7.2 |74/7.2| 73 |74/ 7.1 7.3 |7.4 7.2| 7.3 |[pH{#
- - - - - - |BEWGYTITER
<1 <1 <1 <1 <1 <l |REREME
- - - - - - |Ll-vronzFLy
0.02 0.02 0.01 0.02 0.02 0.02 |7NVI=ULKRUZDILEY
- - - - - - |PFOSKUPFOA
16.6/11.0| 13.3 |11.4/6.6| 9.4 |6.6 1.6 4.6 [4.2/3.1| 3.9 |4.1 24 3.5 |4.4/ 2.8 3.5 K&
123 85| 104 [140/107| 115 |121/109 115 [132|118| 125 [140 115 134 |152|134| 143 |EXREER
- - - - - - |BREMEREE (Vo )V Y 2 E) z
- - - - - - |7rveEDyRES D
- - - - - - |\ESVAY f
- - - - - - |TNAvE
- - - - - - | Avys
- - - - - - [RTAVIL |
- - - - - S DA
0.083] 0.043| 0.059]0.072] 0.036| 0.052 [0.054 0.031| 0.039]0.036| 0.027, 0.032 [0.058 0.032 0.040]0.044 0.031 0.035 | EAMRRIE (E260)
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(3) 7 (LI kG #E K (B PR AE (LRIE R AL T H)

A 4 5 6 7 8 9
HH =oNE= NI = o NEU N 2=l k- NE ANl kP NE - ZNEE S =l E oo NE - N 2=l o NE S AN 2 =]
— AR <1 <1 <1 <1 <1 <1
KIEE Tt Tt T Tt Tt Tt
ARIYLROTEDEY - - - <0.0003 - -
IKER RO DAL EY) - - - <0.00005 - -
LV ROZEDILEY - - - <0.001 - -
SR O T DILEY - - - <0.001 - -
LRKPZTDLEY <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
ANfiza AMbEY <0.002 - - <0.002 - -
AN REER - - - <0.004 - -
ST A A Y RO TV <0.001 - - <0.001 - -
(i (R ER KO HEHBRER - - - <1 - -
i TYRKRUZEDILEY - - - <0.08 - -
- RYEROEDLED <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
riEfkiR 3R - - - <0.0002 - -
. L4-UAFYv - - - <0.005 - -
& “/%—1,2—“/’ ?Pﬂlﬂ/‘/&lf
bvA-1,2-Y" Junzfly - - - <0.004 - -
& T |orooxay - - - <0.002 - -
% |FhorupnzFLv - - - <0.001 - -
= | P yonTFLY - - - <0.001 - -
eV - - - <0.001 - -
= B
e <0.06 - - 0.07 - -
e JUOEERE <0.002 - - <0.002 - -
Z4s1nb: 9| 7N 0.003 0.002 0.004 0.007 0.004 0.010
m| [P7ooEEE <0.003 - - 0.004 - -
ITUEIOOALY 0.001 <0.001 <0.001 <0.001 0.001 0.001
=l ISESi <0.001 - - <0.001 - -
FRhUAOALZY 0.007 <0.004 0.006 0.010 0.009 0.016
PA=L=]iF ] <0.003 - - 0.005 - -
JUEIZOOARY 0.003 0.001 0.002 0.003 0.003 0.005
TUERIVA <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
FIVLT VTR <0.008 - - <0.008 - -
K HINROEDILEY - - - <0.1 - -
B (7= AROEDEY 0.02 0.01 0.02 0.02 0.02 0.03
;Jks‘ RO ZDILEY) - - - <0.03 - -
B |mrozoran - . : <01 . .
’;‘ FRYLRGZ DAY - - - 7.1 - -
Fi RVHVROZDEY <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
j? B A 13 8 8 9 9 11
B8 s, v homnss () 32 - - 29 - -
E
7 |mmEY 50 - - 70 - a
Iég A A FUEE A - - - <0.02 - -
B |vztz3y <0.000001 <0.000001 0.000001 <0.000001 <0.000001 <0.000001
2-AFNAVRINAA—N <0.000001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001
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(3) ZE LIRS K (R XA LR R P T H)

10 11 12 1 2 3 A
BA RN O (&K BN &K BN T |RR RN E [BK RN (&K BN S HH
<1 <1 <1 <1 <1 <1 |—f&HHE
TR TR Tt Tt Tt T | KRG E
- - - <0.0003 - - | ARIVLROZEDLAEY
- - - <0.00005, - - |KERTZOLEY
- - - <0.001 - - |V VRCGZDIREY
- - - <0.001 - - AR U DAY
<0.001 <0.001 <0.001 <0.001 <0.001 <0.001[ L ERTZDILEY
<0.002 - - <0.002 - - |Affizasiee
- - - <0.004 - - | EmEppREER
<0.001 - - <0.001 - - |[yToA A Y RO T
- - - <1 - - |EEARRER R UEMMRER |
- - - <0.08 - - | 7YERCZOLEY B
<0.1 <0.1 <0.1 <0.1 <0.1 <0.1 | RVEROEDILEY -
- - - <0.0002 - - |rHEARRER
- - - <0.005 - - |L4A-IAFHY ] .
A-1,2-9" Junssly ROF &
- - - <0.004 - - |Mva-1,2-Y" yonzfly
- - - <0.002 - - |prooxsy K3 X
- - - <0.001 - - |FhsrupzFLv %
- - - <0.001 - - [proozsLy A =1
- - - <0.001 - R £ Y 4 5
0.07 - - <0.06 - - R &
<0.002 - - <0.002 - - |ZuOpEE e
0.007 0.004 <0.001 <0.001 <0.001 <0.001| 7B TRV A
0.005 - - <0.003 - - |YruniiEk 1
0.001 <0.001 0.001 <0.001 <0.001 <0.001[Y7nEZOOARY
<0.001 - - <0.001 - - | RFER E|
0.012 0.007 <0.004 <0.004 <0.004 <0.004|#RNYNO ALY
0.005 - - <0.003 - - [N IOOEERR
0.004 0.003 0.001 0.001 0.001 0.001 [ 7aEYZ7O0AZY
<0.001 <0.001 <0.001 <0.001 <0.001 <0.001| 7 EEFIL
<0.008 - - <0.008 - - |ABVLATATRER
- - - <0.1 - - |ESRRUEDLEY x
0.02 0.02 0.01 0.02 0.02 0.02 [PNI=UARUZEDMEY |E
- - - <0.03 - - |BBRUZDEY ;Ji
; ; . <0.1 . - |mrozoran g
- - - 8.3 - - |FMTARCEOE 2
<0.001 <0.001 <0.001 <0.001 <0.001 <0.001[ X VAV RO ZDILEY E%
10 10 10 9 10 12 |14y j?
35 - - 39 - - |roh, 39 RYASE (REEE) A
E
70 - - 90 - - |EnmEYy El
- - - <0.02 - - B AV REE A IZ)E
<0.000001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001| VA AIV H
<0.000001 <0.000001 <0.000001 <0.000001 <0.000001 <0.000001| 2= AFINAV RN A A=)V
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(3) 7 (kG #E K (B R A (LIRIR R PG 1T H)

A 4 5 6 7 8 9
HH
B BN Y | BRI RN Y [EK RN Y (&K BN FY |RA BN Y |RA BN OEY
& ;EJ{ FEA A FRETE M - - - <0.002 - -
& %‘ Jx/)—)VIE - - - <0.0005 - -
7 |BHem(TOC) 0.8 0.4 0.5 0.6 0.5 0.9
& f“; pH1E 7.3 7.3 7.2 7.2 7.3 7.3
% ff bk EELL B2ELL BEELL B2ELL BELL BELL
H ?é RBE EELL BELL EELL BELL EELL EELL
5] :25_ aE <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
B [BE <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
TYFEVROZDLEY - - - <0.002 - -
IV ROZDILEY - - - <0.0002 - -
=W VROZDILEY - - - <0.002 - -
1,2-yr7onTiy - - - <0.0004 - -
|24 - - - <0.040 - -
TEVEEY (2-TFINAFI)) - - - <0.008 - -
Ei e - - - <0.06 - -
K [Yrooyeh=hIL <0.001 - - <0.001 - -
= fakras—i <0.002 - - <0.002 - -
- RS | - - - - - -
FREIER 0.36 0.42 0.40 0.58 0.52 0.74
= IVIL, T AT % () 32 - - 29 - -
H RUHVROZDILEY <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
B e 1.8 - - 2.1 - -
% |LL1-hroozay - - - <0.030 - -
& | AT FNT=TL - - - <0.002 - -
H ¥ (TOC) 0.8 0.4 0.5 0.6 0.5 0.9
SKE&E (TON) - - - - - -
: HERTREY 50 - - 70 - -
BE <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
pHf&E 7.3 7.3 7.2 7.2 7.3 7.3
BEEGYT T -2.1 - - -2.1 - -
HEBR B 3 2 1 <1 <1 <1
L1-Yr7agzFlLyv - - - <0.010 - -
TINI=ZDLROZDEY) 0.02 0.01 0.02 0.02 0.02 0.03
PFOSKUPFOA <0.000005 - - <0.000005 - -
KR 6.0 8.6 11.6 17.0 19.6 20.0
BRUEER 122 76 86 104 106 118
T |BEEFRE (YY) - - - - - -
» |TrEoTRESE - - - - - -
it BEXVHY - - - - - -
= TINVHVE 24 - - 21 - -
FIVII L 8.2 - - 7.7 - -
A TRV 2.8 - - 2.5 - -
DA 1.2 - - 1.2 - -
SHRBOEEE (E260) 0.062 0.029 0.037 0.044 0.038 0.047

*] BREFOMIL, BTHRHME/ BFEIDAELZEDTH S,
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(3) R iz kIGHE 7K (B AE LR SR P T B )

10 11 12 1 2 3 A
BN BN Y| RK BN Y| B BN Y |BK RN Y &K BN Y AR
- - - <0.002 - - | AR E A ;ij{ &
- - - <0.0005 - - |7z %‘ =
0.7 0.8 0.5 0.5 0.4 0.5 |%&H##1(TOC) s
7.4 7.3 7.3 7.3 7.1 7.4 |pH{E f; %
2EAL B2ELL EELL B2ELL 2HAL B2ELL 73 ff %
EiAY BHEL EAl BHEL EXiAl 2x5L  |B& ?é H
<0.5 <0.5 <0.5 <0.5 <0.5 <0.5 |8 g =]
<0.1 <0.1 <0.1 <0.1 <0.1 <0.1 [&FE §
- - - <0.002 - - |7V FEVROEDLEY
- - - <0.0002 - - |UIVROEDLED
- - - <0.002 - - =y VRO EDILEY
- - - <0.0004 - - |L2-Yrooxgy
- - - <0.040 - R 1024
- - - <0.008 - - |7RVEEY 2-TFNAFVI)
- - - <0.06 - - |EIERE
<0.001 - - <0.001 - - |Prooyeb=hN K
<0.002 - - <0.002 - - |[fkruas—in =
- - - - - - |EEE 1 i
0.46 0.46 0.40 0.46 0.38 0.36 |FREIEHR
35 - - 39 - - v, =AYy A% EE) &
<0.001 <0.001 <0.001 <0.001 <0.001 <0.001[ VAV R ZDILEY
2.3 - - 2.3 - - |EEERER =2
- - - <0.030 - - |LL1-Mroozgy %
- - - <0.002 - - | AFI-TFNT—TI =
0.7 0.8 0.5 0.5 0.4 0.5 [HH#M(TOC) B
- - - - - - |R&58E (TON) -
70 - - 90 - - |EREEY :
<0.1 <0.1 <0.1 <0.1 <0.1 <0.1 [&E
7.4 7.3 7.3 7.3 7.1 7.4 |pHf#
-1.8 - - -2.0 - - |BEEGVY TR
<1 <1 <1 <1 <1 <l |REEREME
- - - <0.010 - - |L1-oroozFLy
0.02 0.02 0.01 0.02 0.02 0.02 |7INI=ULROZDILED
<0.000005 - - <0.000005, - - |PFOSKUPFOA
15.9 11.0 5.6 3.1 4.0 3.4 [7kiE
120 118 117 126 134 139 |BERIEER
- - - - - - |BKMEFRE (VLY aH) s
- - - - - - |7vEDyRES 1))
- - - - - - gV f
25 - - 27 - - |7vavE
9.1 - - 9.8 - S 2 2%
3.0 - - 3.5 - S S E VA7 |
1.3 - - 1.2 - - |AVTA
0.059 0.059 0.038 0.034 0.059 0.034 | SEAMRIEEREE (E260)
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4-(4) AKEHERKEHARGER (FFKSERE)
WPk
A
® B 4 5 6 7 8 9 10 11 12 1 2 3 ==
55 | 19.6 | 28.2 | 29.6 @ 33.3 4.8 | 28.7 | 23.5 | 20.5 | 11.3 4.5 | 12.9 | 10.4 34.8
K &' (C) & [-0.2 3.7 7.1 16.0 19.6 | 10.6 | 2.1  -6.7 -10.0  -11.8 | -10.1 | -10.5 | -11.8
SEg 8.6 | 13.2  18.9 | 23.3 6.1 | 20.7  12.5 5.9 | -1.6 | -2.7 | -2.7  -0.2 10.2
=] %% 30 31 30 31 31 30 31 30 31 31 29 31 366
541 9.7 | 12.2 | 17.1 | 18.7 | 22.6 | 21.9 | 16.4 9.7 6.7 4.5 4.0 5.7 22.6
YE (% K 3.9 5.6 7.9 | 12.4 3.1 1 13.0 9.1 4.4 2.8 1.5 1.5 1.3 1.3
A& (C) | A SEg 5.7 7.7 | 11.9 | 15.2 9.1 7.7 | 11.3 7.3 4,1 2.8 2.5 2.6 9.0
[EI%K 30 31 30 31 31 30 31 18 31 31 29 31 354
541 82 53 21 15 240 160 51 230 15 3.0 14 15 240
Bk K 2.1 1.6 1.0 0.7 0.9 2.0 1.1 0.7 1.3 0.9 0.7 0.8 0.7
SEg 7.9 6.4 1.9 1.5 6.3 9.3 5.2 17 2.3 1.3 1.5 1.7 5.2
El% | 120 124 | 120 | 124 @ 124 @ 120 | 118 69 124 | 124 | 116 @ 124 | 1,407
541 0.9 0.9 0.8 0.7 0.8 1.2 0.8 0.9 0.9 0.8 0.9 1.0 1.2
TR K 0.2 0.1 0.1 0.1 <0.1 <0.1/ 0.1 0.1 0.2 0.2 0.2 0.2 <0.1
SEg 0.4 0.4 0.3 0.2 0.3 0.3 0.3 0.4 0.5 0.5 0.5 0.5 0.4
B E El% | 120 124 | 120 | 124 @ 124 @ 120 | 118 69 124 | 124 | 116 @ 124 | 1,407
(%) 85 | <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1| <0.1
I % =& <0.1 <0.1] <0.1] <0.1 <0.1] <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
AiEK| g <0.1 <0.1 <0.1/ <0.1 <0.1 <0.1 =<0.1 <0.1] <0.1 <0.1] <0.1 <0.1 <0.1
[E15 180 186 180 186 186 180 176 103 186 186 174 186 2,109
531 <0.1] <0.1] <0.1] <0.1] <0.1] <0.1] <0.1] <0.1] <0.1] <0.1| <0.1| <0.1 <0.1
o0 % =& <0.1 <0.1] <0.1] <0.1 <0.1] <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
AiEK| g <0.1 <0.1 <0.1/ <0.1 <0.1 <0.1 <0.1 <0.1] <0.1 <0.1] <0.1 <0.1 <0.1
[E1% 180 186 180 186 186 180 176 103 186 186 174 186 2,109
541 <0.1 <0.1 <0.1/ <0.1 <0.1 <0.1 <0.1 <0.1] <0.1 <0.1] <0.1 <0.1 <0.1
Bl ok BIE | <0.1) <0.1 <0.1 <0.1 <0.1] <0.1 <0.1 <0.1 <0.1] <0.1 <0.1 <0.1 <0.1
SEHg <0.1] <0.1] <0.1] <0.1] <0.1] <0.1] <0.1] <0.1] <0.1] <0.1| <0.1| <0.1 <0.1
EE | 120 0 124 | 120 | 124 124 120 124 | 119 | 124 124 116 | 124 | 1,463
53] 19 14 16 20 21 24 23 17 22 23 19 23 24
BTV E Bk K 12 9 10 11 12 14 11 9 15 10 14 12 9
(mg/L) - EHg 14 12 14 16 17 19 16 14 17 16 17 17 16
B4 10 8 9 10 8 9 9 4 10 8 9 10 104
541 7.0 7.0 7.1 7.1 7.1 7.2 7.2 7.0 7.1 7.1 7.1 7.2 7.2
Bk K 6.7 6.8 6.8 6.9 6.8 6.9 6.9 6.8 6.8 6.8 6.8 6.8 6.7
Eg 6.9 6.9 7.0 7.1 7.1 7.1 7.0 6.9 7.0 7.0 6.9 6.9 7.0
pH [EIE:3 120 124 120 124 124 120 118 69 124 124 116 124 1,407
541 7.0 6.9 6.9 7.0 6.9 6.9 6.9 6.9 6.9 6.9 6.9 6.9 7.0
ok K 6.9 6.7 6.7 6.7 6.8 6.8 6.8 6.8 6.8 6.8 6.8 6.8 6.7
SEg 6.9 6.9 6.9 6.9 6.9 6.8 6.9 6.9 6.9 6.9 6.9 6.9 6.9
13K 60 62 60 62 62 60 62 59 62 62 58 62 731
5 [ 0.05] 0,02 0.02 0.02 0.06 | 0.05 | 0.05 | 0.04 | 0.03 | 0.03  0.03  0.09 0.09
Bk & | <0.01] 0.01 | <0.01 <0.01 <0.01 0.01 | <0.01 0.01 | 0.01 | 0.02  0.01 | 0.02 <0.01
SEYZ 1 00.03 0 0.02 ) 0.01 | 0.01 | 0.01 | 0.02 | 0.02  0.02 | 0.02 | 0.02 | 0.02 | 0.04 0.01
[EI%K 30 31 30 31 31 30 29 17 31 31 29 31 351
& | <0.01] <0.01 <0.01 <0.01 <0.01| <0.01 <0.01 <0.01 <0.01 <0.01| <0.01 <0.01 <0.01
BsEwhr Yy 1 %R OBRIE | <0.01] <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01| <0.01 <0.01] <0.01 <0.01
(mg/L) Ai@EK g | <0.01) <0.01 <0.01 <0.01| <0.01 <0.01 <0.01 <0.01 <0.01 <0.01| <0.01 <0.01 <0.01
1K 30 31 30 31 31 30 29 17 31 31 29 31 351
& | <0.01] <0.01 <0.01 <0.01 <0.01| <0.01 <0.01 <0.01 <0.01 <0.01| <0.01 <0.01 <0.01
O % &Hi& | <0.01 <0.01| <0.01 <0.01 <0.01 <0.01 <0.01| <0.01 <0.01 <0.01 <0.01| <0.01 <0.01
AiEK g | <0.01) <0.01 <0.01 <0.01| <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
K 30 31 30 31 31 30 29 17 31 31 29 31 351
Bl 4 5 6 7 8 9 10 1 12 1 2 3 s
H H
&5 | 0.52 | 0.58 | 0.56  0.62  0.74 | 0.76 | 0.70 | 0.70 | 0.58 | 0.62 @ 0.54  0.50 0.76
FHEIER il ik B | 0.48 | 0.50 | 0.50  0.50  0.56 | 0.62 | 0.60  0.54 | 0.52 | 0.48 | 0.44 0.44 0.44
(mg/1) S5 1 0.50 0 0.53 | 0.54 | 0.57 | 0.65 | 0.67 | 0.65  0.61 | 0.55 | 0.51 | 0.49 | 0.47 0.56
[E1%% 120 124 120 124 124 120 124 119 124 124 116 124 1,463
X EEGEE, BEEED B
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BIiFKi5

H H

BE |1
& |’ (C) 545

S
-3 ©o DO

==
EX =

KE (C) Bk Hjﬁﬁ

w1 LW oo
DO O Do

BE | 150 38 12 18 290 200
BE | L7 13 0.8 0.6 0.9 15
BX G| o3 62 17 15 59 84

@
w w

| o
S| M

—_—

[

4
© o w

|
SO w
© &

|
© oo
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Do

w Do Ll
e S =)
DO — O
— o =3
DO — Ol
w o oo
o — DO

._.
—
=

Do ¢
—
Do
—
o
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A
® B 4 5 6 7 8 9 10 11 12 1 2 3 =St
&= | 0.06 | 0.02  0.02 0.03 | 0.03 | 0.05 0.06 0.12 | 0.03 | 0.03 | 0.03 0.10 0.12
Bk B&I& | 0.01 | <0.01 0.01 <0.01 <0.01| 0.01 | 0.01 | <0.01 <0.01 0.01 | 0.01  0.03 <0.01
g 1 0.03 | 0.01 | 0.01  0.02  0.01  0.03 | 0.02 | 0.02  0.02 | 0.02 0.02 0.05 0.02
[EIE3 60 62 60 62 61 60 62 60 62 62 58 62 731
& | <0.01] <0.01 <0.01 <0.01 <0.01| <0.01| <0.01 <0.01 <0.01 <0.01| <0.01 <0.01| <0.01
mgi BAE | <0.01] <0.01 <0.01 <0.01 <0.01| <0.01| <0.01 <0.01 <0.01 <0.01| <0.01| <0.01| <0.01
5K g | <0.01] <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01] <0.01
BEWE Y B4 30 31 30 31 31 30 30 30 31 31 29 31 365
(mg/L) & | <0.01] <0.01 <0.01 <0.01 <0.01| <0.01 <0.01 <0.01 <0.01 <0.01| <0.01 <0.01| <0.01
momi BRI | <0.010 <0.01| <0.01| <0.01 <0.01| <0.01| <0.01 <0.01| <0.01 <0.01 <0.01 <0.01f <0.01
SIK| g | <0.01] <0.01 <0.01 <0.01| <0.01 <0.01 <0.01 <0.01| <0.01 <0.01 <0.01| <0.01| <0.01
[EIE3 30 31 30 31 31 30 31 30 31 31 29 31 366
&5 | <0.01] <0.01 <0.01 <0.01| <0.01| <0.01 <0.01 <0.01 <0.01 <0.01| <0.01 <0.01| <0.01
ok BAE | <0.01] <0.01 <0.01 <0.01 <0.01| <0.01| <0.01 <0.01 <0.01 <0.01| <0.01 <0.01f <0.01
SIK| g | <0.01] <0.01 <0.01 <0.01| <0.01 <0.01 <0.01 <0.01| <0.01 <0.01 <0.01| <0.01| <0.01
[EIE:¢ 30 31 30 31 31 30 31 30 31 31 29 31 366
& | 0.60 0 0.58 | 0.64 | 0.74 | 0.98 | 1.05 | 0.88 | 0.90 | 0.72 | 0.60 @ 0.56 | 0.56 1.05
migoks EAE | 0.46 0 0.44  0.46  0.56  0.66  0.72  0.60  0.60 0.42  0.36 | 0.44 @ 0.42 0.36
#oK| g | 0,52 0.50  0.55 | 0.66  0.76 | 0.87 | 0.75 0.74  0.58 | 0.53  0.50 | 0.48 0.62
1%L 59 62 59 62 61 60 62 60 61 61 58 62 721
B5 | 0.56 | 0.54 | 0.62  0.76 | 1.00 1.08 & 0.88 | 0.88  0.68 | 0.60 | 0.58 | 0.60 1.08
okt Ef& | 0.46 | 0.46 | 0.48 | 0.50 | 0.66 | 0.66 | 0.62 0.58 | 0.52 | 0.44 0.46 @ 0.42 0.42
Bk ey | 0,52 051 0.54 | 0.64  0.76 | 0.86 | 0.74 0.71 @ 0.58 | 0.55 0.5 | 0.52 0.62
FEER [E15 58 62 59 62 61 60 61 60 61 62 57 62 725
(mg/L) B5 | 0.56 | 0.54 | 0.64  0.74 | 0.98 1.10 A 0.90 & 0.88  0.68 | 0.60 | 0.58 | 0.62 1.10
mageok ExfK | 0.46 | 0.46 © 0.48 © 0.58 | 0.66 | 0.70 | 0.66 | 0.62 0.50 | 0.50 | 0.46 | 0.44 0.44
# K| g | 0,51 0.50  0.55 | 0.67 0.78 | 0.86 | 0.76 & 0.71 | 0.60 0.56 | 0.51 | 0.5l 0.63
[E1%K 59 62 59 62 61 60 61 60 61 61 57 62 725
e | 0.48 | 0.46 | 0.50 @ 0.56 | 0.74 | 0.76 | 0.68 | 0.66 0.54 = 0.50 | 0.48 | 0.48 0.76
Eﬁé 7'? & | 0.42 | 0.42 | 0.42  0.46 | 0.52 0.58 | 0.58 | 0.52 | 0.48 | 0.48 | 0.42 | 0.44 0.42
vya— F¥i15 | 0.46 | 0.44  0.45  0.52 | 0.61 | 0.67 | 0.62  0.59  0.50 | 0.48 | 0.45 | 0.45 0.52
1K 120 124 120 124 124 120 124 120 124 124 116 124 1464
X EFHEIR, ATEEDOBMTY
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EWRFKIS

A
® g 4 5 6 7 8 9 10 11 12 1 2 3 ==

=e | 17.7 25.4  28.0 0.4 33.4 27.4 19.6 18.1 7.9 2.3 11.4 8.7 3.4

& & (C) =& | 4.2 -0.6 3.2 2.3 15.3 5.4 -0.6 -8.6 -14.2 -17.0 -13.4 -16.3 -17.0
Eg 5.7 11.4 16.5 1.3 23.8 17.5 8.9 3.2 -4.8 5.0 -4.9 -2.8 7.6

[m % 30 31 30 31 31 30 31 30 31 31 29 31 366

531 6.6 9.8 16.4 19.2 23.0 19.6 14.1 9.6 3.8 1.5 1.8 3.1 23.0

(9 =& 4.9 6.2 9.3 15.0 18.2 13.2 8.0 3.1 0.9 0.8 0.9 0.8 0.8
A (C) R X SEg 5.8 7.6 12.5 16.6 19.4 16.6 10.7 6.7 2.0 1.0 1.2 1.6 8.5
[EIf0 120 124 120 124 124 120 124 120 122 124 116 124 1462

531 3.6 4.4 2.0 1.9 2.8 3.3 5.2 63 2.2 0.6 1.8 1.3 63

B Ok =& 0.7 1.0 0.7 0.6 <0.1 0.6 0.4 0.4 0.3 0.2 0.2 0.2 <0.1

iy 1.5 2.2 1.1 1.0 1.0 1.2 1.6 4.9 0.7 0.4 0.5 0.4 1.4
E# [ 120 124 120 124 124 120 124 120 122 124 116 124 1462

54 0.3 0.2 0.2 0.3 0.7 0.3 0.3 0.4 0.4 0.2 0.5 0.4 0.7

Sy I 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1

PRIk Eg 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1

E E [EIE:53 120 124 120 124 124 120 124 120 122 124 116 124 1462
(B) 85 | <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
238k =& <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1

iy <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1

B4 120 124 120 124 124 120 124 120 122 124 116 124 1462

& | <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 0.2 <0.1 <0.1 <0.1 <0.1 0.2

Bk 553139 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1

Eg <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1

Eg [ 1200 124 120 124 124 120 124 120 122 124 116 124 1462

5] 27 16 28 25 24 30 30 27 30 35 39 37 39

K7 g B Ok B®IK 15 12 16 18 21 23 14 13 22 28 29 30 12
(mg/L) i g 21 14 22 22 23 27 22 24 26 31 35 35 25
[EIE: 8 9 9 9 9 8 9 9 8 9 9 8 104

5] 7.2 7.1 7.3 7.2 7.2 7.3 7.3 7.2 7.2 7.3 7.3 7.3 7.3

Bk =K 7.0 6.8 7.0 7.1 7.0 7.1 7.0 6.9 7.1 7.1 7.1 7.1 6.8

iy 7.1 7.0 7.1 7.1 7.1 7.1 7.1 7.1 7.1 7.2 7.3 7.3 7.1

pH [EIE4 120 124 120 124 124 120 124 120 122 124 116 124 1462
54 7.0 6.9 6.9 6.9 6.9 6.9 7.0 7.0 7.0 7.1 7.1 7.0 7.1

Ak I 6.9 6.7 6.8 6.7 6.7 6.7 6.8 6.7 6.8 6.9 6.9 6.9 6.7

Eg 6.9 6.8 6.9 6.8 6.8 6.8 6.9 6.9 6.9 7.0 7.0 7.0 6.9

[EIE4 120 124 120 124 124 120 124 120 122 124 116 124 1462

&= | 0.0 0.01 0.01 0.01 0.01 0.02 0.03 0.0 0.01 0.02 0.01 0.02 0.03

Bk &=& [ 0.01 0.01 0.01 0.01 0.0 0.01 0.01 o0.01 0.0 0.0 0.01 0.01 0.01

5 0.01  0.01 0.01 0.01 0.0 0.01 0.01 0.01 0.0 0.0 0.01 0.01 0.01

BIE Y [E1%K 30 31 30 31 30 30 31 30 31 31 29 31 365
(mg/L) & | <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
2385k =& | <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
Eg ] <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01

[EIE: 30 31 30 31 30 30 31 30 31 31 29 31 365

&&= | 0.50 0.46 0.50 0.66 0.68 0.92 0.58 0.52 0.46 0.46 0.42 0.44 0.92

REER ok =& [ 0.30 0.38 0.38 0.46 0.48 0.50 0.38 0.32 0.32 0.34 0.35 0.34 0.30
(mg/L) g | 0.43 0.42 0.46 0.56 0.57 0.74 0.50 0.42 0.38 0.40 0.39 0.38 0.47
[EIE:4 120 124 120 124 124 120 124 120 122 124 116 124 1462
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